P

" 1."The term 'Economics _uowes it

origin to the Greek wg;;d

(@) Aikonomia
(b) Wikonomia , (a) Industry
(Y Oikonomia . ' \WManqgement of
(d) None of the a'{bove ; (c) Services

2. Economics in terms of Dynamic (d) None of these
‘Growth and development definedby 6. Thebook “Wealth ofNatlon

(@) Adam Smith written by Shte
(b) Robbins (a) Alfred Marshall
(¢) Alfred Mar shall : T (b) Join Robinson
Adam Smith
\m’aul A Samuelson \(9)/ am Smi

(d) Robert Malthus
[Nov. 2020]

Sx AdaJn Smith published his mas-
terpiece “An enquiry into,the nature
and causes of wealth of nations” in
tix;}ear (@) The resources required to sausf‘y

[Jan. 2021]

70 Economlsts regard decision mak.
ing as llnportant because: =

sl our unlimited wants and needs !

are finite or scarce. :
(b) 1786 (b) It is crucial to understand how:‘
(c) 1789 we can best allocate our scarce
() 1790 ; resources to satisfy soc1etys

P unlimited wants and needs.
4. Which book of economics is known

e e r oot cconomicss (¢) Resources have alternative uses..
as

5 5 (éj All of the above

(a) An Inquiry into nation

&7 An inquiry into wealth of nation _ : : i

11|
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60. Which of the following is not a
subject matter of micro economics?

(a) Behaviour of firms
() Location of industry
(¢) Consumer behaviour
H Foreign exchange rate
[June 2022]
61. Micro Economics Covers:

(a) National Income and National
Output
(b) External Value of Currency
(¢} Overall level of Savings and
Investment
#r Location of Indusiry
62. Which of the following is not an
example of Micro-Economics?
M The effect of increase in general
price on living standards
(L) The effect of increase in steel im-
port of a country on steel prices

(¢) The effect of increase in wages on
Automobile Industry

(/) Theeffectof increase inreal estate
prices on the location of industry

[Dec. 2021]
63. The study of behaviour of
different individuals, organisations
with in an economic system is
known as

‘(a’)' Micro economics
(b) Macro economics
(c) Welfare economics

(d) None
[Nov. 2020]

64. A study of how increase in the
corporate income fax rate will affect
the natural unemploymentrateis an
example of:
v(l(r Micro Economics

() Descriptive Economics

NATURE AND SCOPY. OF BUSIN ESS LCONOMICS

(¢) Macro Economics
(d) Normative Economics
[CA CPT Feb, 2007)

O et armines HOw
the individual units (Consumers or
firms) make decisions as to how
to efficiently allocate their scare
resources,

(a) Macro Economics

7] Micro Economics

(¢) Mathematical Economics
(d) Consumer Economics

66. Which of the following falls under
micro economics?

(@) National Income

(b) General price level

{er Factor pricing

(d) National saving and investment
[CA CPT May 2007]

67. Which of these is a part of micro
economics?

g7 Factor pricing
(b) Nauonal Income
(¢) Balance of payment
(d) None of the above
[CA CPT June 2011]

68. Which of the issue is not consid-
ered by micro economics?

(a) Production and cost analysis

(b) Demand analysis and forecasting

J2¥ Accounting standards

(d) Resource allocation Scope of
Mijcro economics

[Dec. 2021]
69. Micro economics is also known
as

(a) Public economics

¥7 Price theory

NATURE AND SCOPE OF BUSINESS ECONMOMICS 1.9

(¢) Income theory
(d) Demand theory
[CA CPT June 2010]

70. Micro Economics is concerned
with:
(a) Consumer Behaviour
(b) Product pricing
(¢) Factor Pricing
J# All of the above
[CA CPT Dec. 2010}
71. Macro-economic is also called
. economics.
(a) Applied
Jbr Aggregate
(¢) Micro

(d) Experimental
[Jan. 2021}

72. Macro Economics is also called
economics.

(a) Applied
AP) Aggregate

(¢) Experimental

(d) None of the above

73. Study of the behaviour of differ-
ent individuals and organizations
within an economicsystemis called?

(a) Industrial Economics
(b) Macro Economics
{¢7 Micro Economics
(d) Welfare Economics
[July 2021]

74. Which of the following does not
suggest amacro approach forIndia?

(a) Determining the GNP of India.

(¢) Identifying the causes of inflation
in India.

(d) Analyse the causes of failure of
industry in providing large scale
employment

75. Macro Economics is the study of

(a) All aspects of scarcity.

{br The national economy and the
global economy as a whole.

(¢) Big businesses.
(d) The decisions of individual busi-
nesses and people.
76. A study of how increases in the
corporate income tax rate will affect
the national unemployment rate is
an example of

&7 Macro-Economics
(b) Descriptive Economics
(¢) Micro-economics
(d) Normative economics

77. Which of these is an example of
macro economics:

(a) Problem of unemployment in
India

(b) Rising price level in the country
(¢) Increase in disparities of income
J) All of the above
[CA CPT June 2011]

78. Analysis of impact of Covid-19
on the Indian economy is a subject
matter of

J{g¥ Macro economics
(b) Micro economics
{¢) Economics of slicing

(d) Normative economics

U Finding the causes of failure of

ABC Lud.

r aasaeaeneafNSs I AT IT N
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79. Macro economics include

(a) Product pricing

(b) Consumer behaviour

{¢7 External value of money

(d) Location of industry

[CA CPT May 2019]

80. Which of the following is not a
subject matter of Micro-economies?

(a) The price of mangoes.

() The cost of producing a fire truck

for the fire department of Delhi,
India.

(c) The quantity of mangoes pro-
duced for the mangoes market
The national economy’s annual
rate of growth.
81. Which of the following state-
ments is correct?

(a) Microeconomicsisimportant for
study of a particular houschold
and a particular firm

(b) Macroeconomicsisimportantfor
study of economic condiuons of
a country

(¢) None of the above
\(JY Both (a) and (/)

82. Mr. Satish hired a business con-
sultant to guide him for growth of his
business. The consultant visited his
factory and suggested some changes
with respect to staff appointment,
loan availability and so on. Which
approach is that consultant using?

(&J Micro economics
(b) Macro economics

(c) None of the above

W Both (a) and (b)

NATURE AND SCOPE OF BUSINESS ECONOMICS

83. Which of the following would be

considered a topic of study in Macro
economics?

(@) The effectof increase in wages on
the profitability of cotton indusmy

(6) The effect on steel prices when
more steel is imported

(cY The effect of an increasing infla-
tion rate on living standards of
people 1in India

(d) The effect of an increase in the
price of coffee on the quantity ol
tea consumed

84. Which of the following is not a
study of Macro-economics?

J#) Consumer behaviour
(b) National Income
(c) General price level
(d) Level of employment
[July 2021]
85. Which of the following is a part
of the subject matter of macro eco-
nomics?
(a) Study of firms
(h) Aggregate profits ol a lirm
(¢} Market demand for a product
(& Net national product
[CA CPT Dec. 2012]
86. A study of how increases in the
corporate income tax ratc will affect
the national unemployment rate an
example of
{gr Macro-Economics
(b) Descriptive ECOnOImIcs
(¢) Micro-economics
(d) Normative Economics
[Nov. 2019]
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87. The Macro Economics does not
cover the area of

(@) General price level and interest
rates

(b) Level of employment and rate of
economic growth

(¢) Balance ol trade & Balance of
payments

(&> Product Pricing

88. Normative science suggests
which of the following?

Jgr Whart should be
() What to produce
(¢) How to produce
(d) When to produce
[June 2022]
89. Shyam : This year due to

heavy rainfall my option crop was
damaged

Krishna: Climates affects cropyields.
Some years are bad, other are good

Hari: Don't worry - Price increase will
compensate for the fall in quantity
supplied
Radhe: The Government ought to
guarantee that our income will not
fall. In this conversation, the norma-
tive statement is made by
(a) Shvam
(b) Krishna
(c) Han
J&] Radhe
[CA CPT May 2019]
90. Which of the following state-
ments is incorrect about Macro
Fconomics?
(a) Macro-Economics is the branch
of Economics that deals with
he study of the behaviour and

1.11

performance of the economy in
total.

) Macro-Economics studies the
particular market segment of the
economy.

(¢) Macro-Economicsdeals with vari-
ous 1ssued like national income,
distribution, employment, gen-
cral price level, money and more.

(d) Itisappliedtoenvironmentaland
external issues.

[Dec. 2021]

91. Which one of the area comes
under macro-economics?

(a) Product pricing
(b) Consumer behaviour

{2 Thegeneral pricelevel andinterest
rates

(d) Economics conditions of a Scc-
tion of people

[Jan. 2021]

Nature of Business Economics
92. Business Economics enables
application of economic logic and
analytical tools to .

{¢) Bridge the gap between theory
and practice.

(b) Increase the implementation sci-
ence.

(¢) Increase the effectiveness.

(d) Apply tools of macro economics.

93, Business Economicsrelies heavily
on the techniques of g

\M’M\cro Economics

(h) Macro Economics

(¢) Normatve Science only

(d) Economics discipline only
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&7 Inductive method
(@) Experimental method

[CA CPT June 2017]

127. Business economy involves
theory of Business economics with

(@) Normanve Economics
(&7 Business practices

(¢) Micro Economics
(d) Macro Economics
[CA CPT Now. 2018]

Scope of Business Economics

128. The operational or interval is-
sues to which economic theories can
be directly applied are related with.

7~ Micro Economics

(5) Macro Economics
(c) Business Economics
(d) Environmental Economics
129. The scope of business Econom-
ics encompasses all of the following
except
4« Accounting Standards
(&) Resource Allocation
(¢) Inventoryv Management
(d) Profit Analysis
[Dec. 2021]
130. Business Economics is es-
sentially a component of Applied
Economics as itincludes application
of selected quantitative technigues.
Which technique is not included
in it?
(a) Regression analysis
() Capital budgetng
{¢» Economic analysis
(d) Linear programming
[July 2021]
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131. Which factor is included in
business Economics?

(@) Business Economics is an art
(&) Inter-disciplinary in nature
(¢) Normative in nature
\(9 All of the above
[CA CPT Now. 2018]

132. Business economics is prag-
matic in its approach because?

{94 Ittackles practical problem which
the firm faces in real world.

(5) Irtackles pracucal problem which
the firm faces due to WTO policies

(¢) Ittackles practical problem which
the firm faces due to lack of direc-
tors.

(d) Business economics is abstracts
and purely theoretical.

[July 2021]

133. Which of the below enables
application of economic logic and
analytical tools to bridge the gap
between theory and practice?

(@) Macro economics

(&) Micro economics
{27 Business economics
(d) Traditonal economics

134. Applied economics includes

(@) Regression analysis and math-
ematical linear programming

() Capital budgeting

{zr Both (a) and (&)

(d) None
[CA CPT May 2019]

135. Which of the following is not
within the scope of Business Eco-
nomics?

(a) Capital Budgeting

(b) Rask Analysis

NATURE AND SCOPE OF BUSINESS ECONOMICS

(¢) Business Cycles
(g3 Accounting Standards®

136. explains therela-
tionship betweeninputs and output.

{7+ Production Theory

(b) Demand Analysis

(¢) Inventory Management

(d) None of the above

137. Business Economics with the

help of advanced tools like
enables the firm to

arrive at the best course of action

for optimum utilisation of available
resources.

(@) Accounung

(b) Finance

Jg+ Linear Programming
(d) Markeung Mix

138. The nature of business econo-
INics is

(a) Positive in nature
(b) Pure science
\\#) Pragmatic
(d) Independent
[Nov. 2020}

139. Business Economists use
method(s) to maintain
optimum stock of inventories.

(a) ABC Analysis
(b) Simple simulaton exercises
(¢) Mathematical models

¥ All of the above

140. Which of the following Macro-
Economic Factor is considered in
Business Economics?

(a) Business Cycles

(b) Employment, Prices

(¢) Saving & investment

‘(j) All of the above

Difference between Economi
- TS e
and Business Economic
141. Which of the following involves

the application of economic prin-
ciples to solve economic problems?

(@) Macro Economics
(b) Economics
{&7 Business Economics

(d) Pracucal Economics

142. What is the character of Eco-
nomics?

(a) Micro-economics
(b) Macro-economics

(&7 Micro as well as Macro Econo-
mic

(d) Positive Economics

143. What is the character of Busi-
ness Economics?

@) Micro-economics
(b) Macro-economics

(¢) Micro as well as Macro Econo-
mic

(d) Posiuve Economics

144. What is the nature of Econom-
ics?

(a) Posimve

(b) Negative

(¢) Normatuve

«dj Positive as well as Normative

145. What is the nature of Business
Economics?

{a) Posiuve

(b) Negauve
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{2 Normative
(d) Positive as well as Normative

146. Business Economics concen-

trates on_____ aspects of any
business problem,

(a) Economic
(b) Non-Economic

9,‘4) Both Economic as well as Non-
Economic

(d) Macro Economic

147. Business Economics makes use

of micro-economic analysis. Which
of the following is NOT a part of
such analysis?

(a) Demand analysis and forecasting
() Production and Cost Analvsis.

(¢) Theory of Capital and Investment
decisions.

{# National Income

148. Which of the following is NOT
a part of Macro Economics?

(a) Business Cycles

(h) National Income

(¢) Saving and Investment
(¥ Demand Analysis and Forecasting

149. Unlimited ends and limited
means together present the problem
of

(a) Scarcity of resources
(Lr Choice

(c) Distribution

(d) None ol the above

150. Which of the following state-
ments is/are correct regarding busi-
ness cconomics?

(a) Business economics atiempts 1o
indicate how business policies
are firmly rooted 1o economic
principles,

() Business economics uses micro
cconomicanalysis of the business
unitand macro economic analysis
of business environment.

{(¢) Business economics takes a
pragmatic approach towards fa-
cilitating an integration between
economic theory and business
practices.,

4 All of the above

.UNIT 2 : BASIC PROBLEMS OF AN ECONOMY AND ROLE OF PRICE

MECHANISM
Basic Problems of an Economy

151. Which of the following state-

ment is false?

(a) The Resources are limited.

(b) The Resources have alternative
uses.

(c) Ifresources are unlimited, people
would be able to satisfy all their
wants.

( The economics problem arises
because resource has only asingle
use.

152. The central economic problem

of an economy arisesdueto

N Scarcity of resources relatve to
the wants

(b) Co-existences of private and pub-
lic sector

(c) Govt. mmterference In economic
activities

(d) Federal structure of Constitution

[July 2021]
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153, The basic problem of scar
city give rise to:

(a) Technological problems
(k) Social problems

(¢) Cultural problems

Ly Economic problems

154. Which of the following econo-
mic system hae to deal with the con-
trol problem of scarcity of resources?

(a) Capitalist

(h) Socialist

(¢) Mixed

~Id) All of the above

155. In economics, the central eco-
nomic problem means:

.

{gr Ourputis restricted to the limited
availability of resources.

(b) Consumer do not have as much
money as they would wish

(¢) There will always be certain level
of unemployment

(d) Resources are not always allo-
cated in an optimum way

156. Which of the following is the
central problem of economy?

J7) Scarcitv of resources
(b) Unemployment
(¢) Poverty

(d) Inflation

157. Which of the following is the

central problem of the economy?
(@) Unemployment

(b) Poverty

() Scarcity of resources

(d) Inflation

[June 2022]
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158, The Central problem in every
economic society s

(a) To ensure a minimum leyel of
income for every individual, ,
\M To allocate scarce resources in
s " | *
such a manner that zocieties un-

limited wants are satisfied in the
best possible manner.

(c) Toensure that production occurs
in the most efficient manner.

(d) Toprovide job o every jobseeker,

[CA CPT June 2017}
159. A developed economy uses
technique in production,
(«) Labour intensive,
J#) Capital intensive
(¢) Home-based
() Traditional
[CA CPT June 2010]

160. The ‘Central Economics Prob-
lem’ does not deal with which of the
following economic problems?

(a) What to produce?
(b) How 1o produce?
(¢) For whom 1o produce?
{dr Where 10 produce?
[July 2021
121 Tl

161, The central problem in econo-
mics is that of

() Comparing the success of com-
mand versus market cconomies.

(h) Guarantecing that production oc-
curs in the most efficient manner.

(¢c) Guaranteeing a minimum level
of income for every citizen.

(@Y Allocating scarce resources in
such a manner that society’s un-
limited needs or wants are satis-
fied in the best possible manner.
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162. Which of the following refers
to the sum total of arrangements
for the product and distribution of
goods and services in society?

{gr Economic System

(b) Busincss System

{c) Capitalist Economic System
{d) Socialist Economic System

NATURE AND SCOPE OF BUSINESS ECONOMICS

(c) Alternative uses of resources
(dr All of the above
[CA CPT Dec. 2009]
167. Which of the following is not
one of the four central questions that

the study of economics is supposed
to answer?

(a) Who produces whart?

{br When are goods produced?

163. Capital intensive technique
would ger chosen in a

{(a) Labour surplus economy where
the relative price of capital is
ower.

L) Capital surpius economy where
the relative price of capital is
lower.

{c) Developed economy where tech-
nology is better

) Developing economy where tech-
nology is poor.

164. Which of the following is not a

part of central economic Problem?

{a) What to Produce?
() How to Produce?
(¢) For whom to Produce?

U Price fixation of Production.

165. referstothesum

total of arrangemenis {67 ine produc-
tion and distribution of goods and
services in a Society.

b Economic Systerm

(b) Social System

(¢) Business sysiem

(d) Comprehensive System
166. Economic Problem arises when:
ig) Wants are unlimited

(b) Resources are limited

(¢) Who cunsumes what?
(d) How are goods produced?

168. The classification of economies
into Capitalist, Seciaiist and Mixed
s Based on their:

{a) Mode of Production, exchange
and distribution

(b) Government’s role in economic
activity.

-(./1 Both (a) and (b)
(d) Neither (a) nor (b)

169. The choice between labour
and Capital intensive technigues is
related with.

(a) What to Produce?
{b7r How 1o Produce?
(c) For whom to Produce?

(d) All of the zbove

Capitalist Economy

170. Which one of the followingis not
an example of capitalist economy?

(a) Japan

(b) Mexico

(c) Germany

tdy”Cuba

171. The capitalist Economy uses
A Wi se S principle means of
allocation of resources -

NATURE AND SCOPE OF BUSINESS ECONOMICS

J# Price

(b) Demand

(c) Supply

(d) None of the above

[Nov. 2019]
172. Freedom of choice is the advan-
tage of
(a) Socialism
b7 Capitalist

(c) Mixed economy
{d) None of the above
[CA CPT May 2019]
173. A capitalist economy consists of
(a) Cenrtral planning authonty

(bf)\ mechanism to decide as what,
how and for whom to produce

(c) Both (a) and (b)
(d) None of the above
[CA CPT May 2019]

174. Capitalist system offer ince-
ntives for:

(a) Efficient business decisions
(b) Efficient government decisions

(c) Efficient non-government deci-

s1ons
{gr Efficient economic decisions

175. In capitalistic economy
and will be more

(a) Equalities, non-exploitation
b7 Inequalities, exploitation
(¢) Exploitation, equalities

(d) Non-exploitation, inequalities

[Nov. 2020]

i76. In a free market economy the
allocation of resources is deter-

mined by
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(a) Voting done by consumers
(b) A central planning authority.
Jgr Consumer preferences.

(d) The level of profits of firms.

177. An economy is called capitalist
economy, when is given.

{gr Right to private property
(b) Freedom of Governmentinterfer-
ence

(¢) Freedom of business choices
(d) Discrimination
[Jan. 2021]

178. A capitalist economy uses __
as the princi

means of allocating resources.
{a) Demand
(b) Supply
(c) Efficiency
¥ Prices
179. An economic system in which
all means of production are owned

and controlled by private individuals
for profit is called as?

{a) Free economy

!() Capitalist economy
(c) Normative economy
(d) Socialist economy

180. Laissez-Faire economy is also
known as :

9 Capialist economy
(b) Socialist economy
(¢) Mixed economy

(d) Communist economy
[Jan. 2021]

i A R
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181. Capitalist
incentives for

(@) Efficient business decisions
(b) Efficient government decisions

system offer

(¢) Efficient non-government deci-
sions

‘Ssi)' Efficient economic decisions
[Jan. 2021)

182. One of the demerits of capital-
ism is that it leads to formation of

(a) Duopoly
(b) Oligopoly
{7 Monopoly
(d) Perfect Competition
[Dec. 2021]

183. Price Mechanism is the main
feature of which economy

(@) Capitalisuc Economy
(6) Mixed Economy
(c) Socialist Economy
(d) All of the above
[CA CPT Now 2018]
184. Profit motive is a merit of
(@) Socialism
) Capitalism
(c) Mixed economy
(d) None of the above
185. Which out of these are the fea-
ture of capitalism?
(i) Profit motive
(if) Human welfare
(iit) Work through price mech-
anism
(a) (i) and (i)
(b) (i) and (ifi)

NATURE AND SCOPE OF BUSINESS ECONOMICS

) () and i)
(@) All of these
[CA CPT Now. 2018]

186. Which of the following is not
one of the features of capitalist
cconomy?

(@) Right of private property

(b) Freedom of choice by the con-
sumers

{» No profit, No Loss motive
(d) Competition

187. Capitalist economy solve their
economic problems through which
of the following?

(a) Central Planning Authority
(&Y Price mechanism
(¢) Admunistered Prices
(d) Voting done by customers
June 2023}
188._  __isaneconomicsys-
tem in which all means of production
are owned and controlled by private
individuals for profit.
J99 Capitalist
(&) Socialist
(c) Mixed
(d) None of the above
189. Which of the following is consid-
ered as a disadvantage of allocating
resources using the market system?
(¥ Income will tend to be unevenly
distributed.
(b) People do not get goods of their
choice.
(¢) Men of Initiative and enterprise
are not rewarded

(d) Profits will tend to be low,
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190, Exploitation and inequality will
be more in

(@) Socialism
Uy Capitalism
(¢) Mixed
(d) All of the above
[CA CPT May 2019]

D b
buyers ultimately determine which
goods and services will be produced
and in what quantitics,

(@) Capitalist Economic
(b) Socialist Economy

(c) Mixed Economy

(@ Consumer Sovercignty

192, Consumers’ sovereignty is a
typical feature of

(@) Command economy

(b) Socialistic economy

(¢) Mixed economy

(d)~ Capitalist economy
193, In which type of economy do
consumers and producers make
their choices based on the market
forces of demand and supply?

(@) Open Economy

() Controlled Economy

(¢) Command Economy

\(:j} Market Economy

[CA CPT Feb. 2007]

194, The economic system in which
all the means of production are

owned and controlled by private

individuals for profit,

(a) Socialism

(] Capitalism

(¢) Mixed economy

{(d) Communism

... means that

195, In a free market cconomy, when
consumers incrense thelr purchage
of a goods and the level of
exceeds  then prices tend to
rise:

WY Demand, supply

(0) Supply, demand

(©) Prices, demand

(@) Profits, supply

[CA CPT Aug, 2007]

196, Capltalistic Economy uses

. A8 principal means of
allocating resources,

(@) Demand
(b) Supply
J&) Price
(d) All of the above
[CA CPT Nowv. 2006]

197, In a capitalist economy, alloca-
tion of resources is done by:

(@) Producers
(b) Government
(¢) Planners
&Y Price mechanism
[CA CPT June 2012]

198, A Free Market economy solves
its Central Problems through

(@) Planning authority
Py Market mechanism
(¢) Both
(d) None
LCA CPT Dec. 2008]

199, Capitalistic economy uses
i as principal means ol

allocating vesources

(@) Demand

(b) Supply
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&y Price
(d) All of the above

[Nov. 2019]

200. A capitalist €conomy is by and
.

(@) A closed economy
Wr A free market cconomy
(€) A centrally controlled cconomy
(d) An economy in which a govern-
ment neither collects any taxes
nor incurs any expendifure.
[CA CPT Dec, 2012]
201. Which one is not the character
istic of capitalistic cconomy?

(@) Prolit motive .
(h) Income inequality
() Free employment
& Collective ownership
[CA CPT June 2009)

202. Consumer sovereignty is found
in which economy?

{99 Capitalist Economy
(L) Socialist Economy
(¢) Mixed Economy
(d) Communist Economy
[Nov. 2019]

203. Capitalistic Economy uses
as principal means of
allocating resources.

(@) Demand
(L) Supply
(/f Price

() All of the above

NATURE AND Scopp OF BUSINESS ECONOMICS

(@) There is freedom of economic
choice

() Profit motive is the driving force,

(e) It is also called as free market

economy or laissez- Faire ccon-
omy.

P, I’roduccrlnthckjnuundcrcapllnl-
ism

205. The merits of Capitalist econo-

my do not include:

(a) Faster process of economic
growth

(b) Efficient economic decisions and
their implementation

(¢) Incentives for innovation and
technological progress

W' Weliare of lubour

206. A free market economy’s driv-
ing force is:

(g” Prolit motive
(6) Wellare of the people
(¢) Risingincome and levels of living
(d) None of the above,
[CA CPT June 2013)

207, Capitalist or Laissez f[aire
cconomy has which of the following
characteristics?

(a) Relatively equal income distribu-
tion
L&) Competition
(¢) Price mechanism
(d) Collective ownership
[Dec, 2021)

208, An economic system in which

all means of production are owned

[CA CPT Dec. 2009]

204. Which one of the following is
not true about capitalist economy?

and controlled by private individuals
for prolit is called:
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{a) Mixed Economy
() Socialist Economy
Lot Capitalist Economy
(d) Developed Economy
[CA CPT Dec. 2016)

209. Where does price mechanism
exists?

o1 Caplialist Economy
(B) Soclalist Economy
(e) Both type of economies
(d) None of the ubove,
[CA CPT Dec, 2013]

210, In which among the tollowing
systems the ‘vight to property’ exisis

(a) Mixed ceanomy

A Capitalist economy

() Socialist economy

(d) Traditdonal economy

[CA CPT Dec. 2013]

211. A system ol economy in which
all the means of production are
owned and controlled by the privaie

individuals lor the purpose of profit,
is called:

{a) Soclalist Economy
) Caplialist Economy
(¢) Mixed Economy
(d) All of the above
[CA CPT June 2013]

212, Capltalistic  Economy user
" as principal means ol al-
locating resources:

(a) Demand
(b) Supply
Ml'mu :
() All of the above
[CA CPT May 2018]

213, Factors of production are owned
by in market economies,

(a) Govi,
(b) Investors
(A Privately
(d) None
[Nov. 2019]

214, Which of the following is not
demerit of Caplialism?

(a) Precedence of property rights
over human rights,

(b)) Misallocation of resources.

(¢) Punishment for Inefficient & im-
prudent men.

(d) Environmental degradation due
Lo excessive matecialism,

215, Freedom of choice Is the ad-
vantage of

(a) Sociulism
setrT Capitalism
(¢) Mixed Economy
(d) Communisim
[CA CPT Dec, 20106]

216, Under a free economy, prices
nred

fa) Regulated

Wi Determined through free inter
play of demand and supply

(e) Partly regulated
() None of these
[CA CPT May 2007

217, Which of the following state-
ments does not apply to a4 market
ceonommny/

(@) Firms decide whom 1o hire and
what to produce,

() Flrons ahm ar maximizing protits,

e 2 8 3 2 % 0 a
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() Houscholds decide which fivims

to work for and what to buy with

their incomes.

@ Government policies are the pri-
mary torees that guide the deci-

sions of tivms and households.

218, Beonomic system is sell-
regulating and van by invisible
hands,

(@) Mixed
) Socialistie

LY Capitalistic

@) Planned

219, Which of the tollowing is not
a feature of a capitalist ecconomy?

(@) Right to private property

Y Restrictions on consumers Right
to choose

() Profit motive
\(d) Freedom of enterprise
LCA CPT June 2014]

220. Freedom of choice is the ad-
vantage ol

(@) Socialism
b Capitalism

(¢) Communism

(@) None of the above

221. A Capitalist Economy follows
the policy ot

¥ Laisser faive
(&) Regulated markets
(¢) Promoting public sector
(@ None of the above
[CA CPT Dec. 201 2]
222. Inacapitalist economy the allo-
cation of resources is performed by:

NATURE AND SCOPE OF RUSINUSS BCONOMICS

@) Producers

) Government
() Planners

(> Price mechanism

LCA CPT Dec. 2011

223, Which of the ollowing state-

ment does not apply to a market
cconomy?

(@) Firms decide whom to hirve and
what to product

(&) Fivms at maximizing profis

(¢) Houscholds decide which Homs

to work tor and what 1o buy with
their incomes

{nj}’ Government policies are the pri-
mary torces that guide the deci-
sions of irms and houscholds,

[Now. 2019]

224, The Concept of socialist econ-
omy was propounded by

(@) Karl Mark

» Frederic Engels

(¢) Adam Smith

\\)D Both (a) & (&)

225. Which of the following is
NOT a characteristic of a socialist
economy?

(@) Absence of consumer choice

(&) Central planning

(¢) Relatively equal income distribu-

ron

(@ Competition
226. Socialist economy is A
(@) Selt regulation
(&) Profit Ox rented

NATURE AND SCOPE OF BUSINESS ECONOMICS

G Command economy

() Allocation of resources as per
market requirements

[CA CPT May 2019]

227. Under which ot the following
ecconomy the consumer has lHmited
freedom of choice?

) Social
(&) Mixed
(¢) Capital
() Restricted

228. The concept of socialist econ-
omy was propounded by

(@) Albved Marshall

(b) Joel dean

(¢) Albert Einstein

Y@ Karl Marx and Fredric Engles
[Dec. 2021]

229, Exploitation and inequality are
minimal under:

(" Socialism

(b) Capitalism

(¢) Mixed economy
) None of the above

230. Socialist Economy was pro-
pounded by:

(g Karl Marx

(b) Samuelson

(¢) A.C. Pigou

(@) Adam Smith

[CA CPT May 2018}

2131. Soclalist economy is also called
as

(@) Command Economy

(8) Centrally Planned Economy

1.27

(©) Free market Economy
() Both (@) & (b)

232, The economie system in which
production and distribution of goods
are aimed at maximizing the wel-
fare of the community as a whole is
Known as

(@) Capitalism
by Socialism
(¢) Mixed economy
(@) Communist Economy
[July 2021)

233, Which of the following state-
ments is not correct?

(@) Scarcity of resources is the key
problem of all economies

() Economic inequalities lead to
wide ditference in economic
opportunities to people

(¢) Economicinstability is very com-
mon under capitalism

Freedom of enterpriseisone of the
main characteristic of command
economy

[June 2022}

234, Although Price mechanism ex-
ists in __ . but it has
only a secondary role.

(@) Capitalist economy

W Socialist economy

(¢) Mixed Economy

(d) Price Economy:

235, Inequalities of income do not
perpetuate in Ok
" Socialism
(&) Mixed economy

(¢) Capitalism
(d) None

[CA CPY Dec. 2011]
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of industry demand it signifies the
of the firm
{(a) Product sﬁare
Market share
(¢) Demand

(d) Supply
[June 2022]
7.The quantitydemandedisa
@ Flow
(&) Stock

(c) Single isolated purchase

(d) Concept without reference to
ume

8. Effective demand depends on.
& Price

(6) Cost

(c¢) Desire

(d) Product

[Jan. 2021]

9. In economics, Effective Demand
for a thing depends on :

(a) Desire
(b) Means to purchase

(c) Willingness to use those means
for that purchase

{#f All of the above

Determinants of Demand

10. All of the following are determi-
nants of demand except:

{a) Tastes and preferences.
{»7 Quantity supplied.

(¢} Income of the consumer.
(d) Price of related goods.

THEORY OF DEMAND AND SUPPLY

ll_. is not a deter-
minant of demand for commodity.

(@) Price of substitute commodities
(&) Price of complementary goods

(c) Consumer expectations about
future price of the commodity

(@2 Quanuty of stock of the commod-
ity

12. Which is not an important factor
that determines demand?

(@) Price of commodity

(&) Disposable income of consumer
(c) Tastes and preferences of buvers
(& Educational qualification of

buver
[Dec. 2021]

13. Price of goods expresses value.
{27 Exchange

(6) Cost

{(c) Demand

(d) Fair

[[Dune 2023

14. Which of the followingwill affect
the demand for non-durable goods?

(a) Disposable income
(b6) Price
(c) Demography
() All of the above
[CA CPT May 2019]
15. What is not a determinant of
demand?
(a) Consumer’s expectations
(b) Consumer’s tastes and preferences
(¢) Income of the consumers
{(g¥ Prices of unrelated goods.
[Jan. 2021]

THEORY OF DEMAND AND SUPPLY

16. The term “Ceteris Paribus” refers
to 4

@¥ Other things being equal
(b) Other things also change
(¢) Other things may change
(d) None of the above

17 Ceteris Paribus, the demand for
a commodity is inversely related to
its price. This happens because of :

(@) Income Effect
(b) Substitution Effect
{&¥” Both (a) & (&)
(d) None of above

18. is/are the
types of Related Commodities.

(a) Complementary

(b) Substtutes

(¢¥ Complementary and Substitutes
(d) Complementary or Substitutes

19. The increase in demand on
account of an increase inreal income
is known as:

(a) Substitution effect
<7 Income effect

(c) Marginal effect
(d) Demand effect

20. Which one of the following
set of Commodities represents
Complementary goods?

(a) Tea and Sugar

(b) Automobile and Petrol
(¢) Pen and ink

() All of the above

2R T RS A resthoSe R goods

which are consumed together or
simultaneously.

2.3

{z¥ Complementary
(b) Substitutes
(¢) Simular

(d) Unrelated

22. Goods which are inferior, with

no close substitutes easily available

and which occupy a substantial place

in consumer’s budget are called
goods.

(a) Speculative
(b) Prestige
(¢) Conspicuous
{gr Giffen
[July 2021]

23. When two commodities are
complementary, a fall in the price of
one (other things being equal) will
cause the demand for the other to

(a) Fall
(&7 Rise
(¢) Remain constant
(d) Fall substanually

24. Two Commodities are called
when they satisfy
the same want and can be used with
ease in.place of one another.

@) Substitutes

(b) Complementary

(¢) Unrelated
(d) Opposite

25. Thereisa = yelation
between the demand for a product
and the price of its substitutes.

(a) Direct
(b) Positive
(¢) Indirect

((I/)/Both (a) & (b)
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2.4 THEORY OF DEMAND AND SUPPLY

26. In case of Veblen goods, the de-
mand curve is

(a) Horzontal
(b) Vertical
& Upward sloping to the right
(d) Downward sloping 1o the right
[June 2022]

27. Highly priced goods are con-
sumed by status seeking rich people
to satisfy their need for conspicu-
ous consumption. This is called as

V@) Veblen Effect
(6) Snob Effect”
(¢) Helen Effect
(d) None of these
[July 2021]
28. Name the term which refers to
the demand for consumer goods
which is decreased owingbe the fact
thar others are also consuming the
same commodity.
(@) Hallo effect
{p7 Snob effect
(c} Veblen effect
(d) Demonstration effect
20 ERS SRS A e AL e COXI-
modities for which the quantity
demanded rises only up to a certain
level of income and decreases with
an increase inmoney income beyond
this level.
L&f Inferior Goods
(b) Normal Goods
(¢) Consumption Goods
(d) Durable Goods

30. The substitution effect will be

what when the price of the product
Falls?

(a) Zero
() Negauve
~eT Positive
(d) Lower cost
[June 2022}

31. When goods are substitutes, a fall
in the price of one (Ceteris Paribus)
leads to in the quantity demanded
of its substitutes.

(a) Rise

@7 Fall

(¢) Constant

(d) No effect
32. A group of people decrease or
altogether stop consumption of a

common to which of the following
effecr?

&’ Bandwagon elfect
(b) Veblen effect
(c) Snob effect
(d) Marshall effect
[July 2021]

33. The term demonstration effect
was coined by

(a) Hicks
(b) Veblen
+) James Duesen berry
(d) Marshall
[Dec. 2021]

34, Which of the following will affect
the demand for non-durable goods?

(a) Disposable income

(b) Price

THEORY OF DEMAND AND SUPPLY 2.5

(¢) Demography

\(9 All of the above
35. Which of the following pairs of
goods is an example of substitutes?
(a) Tea and sugar.

() Tea and colfee

(¢) Pen and ink

(d) Shirt and trousers.
36. When the price of petrol
decreases, people reduce the
consumption of diesel, then the
goods are:

(a) Complementary

Jb) Subsututes

(¢) Superior

(d) Any of the above
[Nov. 2020]

37. If the price of Pepsi decreases
relative to the price of Coke and
7-UP, the demand for:

(a) Coke will decrease.

(&) 7-Up will decrease.

(¢) Coke and 7-UP will increase

\(ﬁ“f Coke and 7-Up will decrease.
38. Which of the following is an in-
correct statement?

(a) When goods are substitutes, a fall
in the price of one (ceteris pari-
bus) leads to a fall in the quantity
demanded of its substitutes.

(b) When commodities are comple-
ments, a fall in the price of one
(other things being equal) will
cause the demand of the other to
rise.

L(p’) As the income of the consumer
increases, the demand for the
commodity increases always and
vice versa.

(d) When a commodity becomes
fashionable people prefer 1o
!)uy it and therefore its demand
increases.

39. What will happen in the rice mar-
k'et if buyers are expecting higher
rice prices in the near future?

- Thedemand forrice will increase.
(b) Thedemnand forrice will decrease

(c) Thedemand for rice will be unaf-
fected.

(d) None of the above.

40. Conspicuous goods are also
known as:

(a) Prestige goods.
(&) Snob goods.
(c) Veblen goods.
Jd) All of the above

41. A good which cannot be con-
sumed more than once is known as

(a) Durable good

] Non-durable good
(c) Producer good
(d) None of the above
42, A relative price is

(a) Price expressed in terms of
money

() Whatyou get paid for baby-sitting
your cousin.

(¢ The ratio of one money price to
another.

(d) Equal to a money price

43. The price of tomatoes increases
and people buy tomato puree. You
infer that tomato puree and toma-
toes are

{a) Normal goods.

(b) Complements.
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{&” Substitutes.
(d) Interior goods.
44, Chic}:cn and fish are substitutes.
If the price of chie

nmecre s, the
kc m asces h 9
dl.'“..and !Ol 'i‘\- ll W lll

(@) Increase or decrease but the de-
mand curve for chicken will not
change.

T Increase and the demand curve

tor fish will shift nghnwards.

(¢) Not change but there will be a
movement along the demand
curve for hsh.

(d) Decrease and the demand curve
for fish will shift leftwards.

45. If the price of X commodity
increases and due to that the demand
for ¥ commodity increases, then x
and v goods are
(@) Complementary
&7 Subsututes
(c) Normal
(d) Giften
46. Potato chips and popcorn are
substitutes. A rise in the price of
potato chips will the de-

mand for popcorn and the quantity
ol popcorniwilliss e,

&) Increase; increase

(#) Increase; decrease

(¢) Decrease; decrease

(d) Decrease; increase.
47. Increase in price of pulses leads 1o
increase indemand of green vegetables.
The pulses and green vegetables are

Ve
) Subsurtutes

(5) Complimentary goods

AND SUPPLY

(€) Normal goods
(d) None of the above
[June 2023]
48. “High priced goods consumed by

status secking rich people 1o satisly
theirneed forconspicuous goods™” is:

g2 Veblen elfect

(L) Bandwagon effect

(¢) Snob effect

(d) Demonstraton effect

[CA CPT May 2018]

49. Which of the following is the price
atwhich the quantity demanded of a
commodity is equal to the quantity
supplied of the commodity and there

is no unsold stock or no unsupplied
demand.

(@) Selling price
(&) Asking price
(¢) Future price
L& Market cleanng price
[July 2021]
50. If the price of Orange Juice in-

creases, the demand for Apple Juice
will

{ZJ Increase
() Decrease
(¢) Remain the same
(d) Become negative

51. At higher prices people demand
more of certain goods not for their
worth but for their prestige value -
This is called

\\:y’ Veblen ellect
() Gilfen paradox
(¢) Speculanve effect

(d) None of the above

THEORY OF DEMAND AND SUPPLY o

52. With a fall in the price of a
commodity:

4 Consumer's real income in-
Creases

(b) Consumer's real income decreas-
CS.

(¢) There is no change in the real
mcome of the consumer.

(d) None of the above

53. With an increase in the price of
diamond, the quantity demanded
also increases. This is because itis n:

(@) Substtute good

(b)) Complementary good

)" Conspicuous good

(d) None ol the above
54. When the price of tea decreases,
people reduces the consumption ol
coffee. Then the goods are

(@) Complementaries
) Substitutes

(¢) Inferior goods
(d) Normal goods
[CA CPT May 2019]
55, If a short run supply curve is
plotted lor the following table which
presents price and quantity of ighter
aircrafts, whart will be its shape?

Price in millions |

Number of

of § 1 Aircrafis '
124 28
o140 28 e
I 150 Eiiae :
160 | 28 |
T LR PR T

(@) Horizontal suaight line parallel
to the quantty axis

(&) Steeply rising with elasticity less
than one

f Vertical straight line parallel to Y
axis
(d) A periectly elastic supply curve

pDemand Function

56. A Symbolic statement of a rela-
tionship between the dependent and
the independent variables is called .
as

W1 Funcuon

(b) Sets
(¢} Equation
() Variable

57. In a demand function, the de-
mand fora productis the

(@) Independent Vanable

(b) Explanatory Vanable

Jer Dependent Variable

(d) Complex Variable
58. In a demand function, the de-
terminants of demand like price,
money income, tastes & preferences,
etc. may be regarded as

(a) Dependent Vanables

(b¥ Independent Vanables

(¢) Related Vanables

(d) Complex Variables

59. The demand curve of a normal
good has shifted to the right. Which
of the four events would have caused
the shile?
(@) A fall in the price of a substi-
tute with the price of the good
unchanged

(0) Afallinthe nominal incomeof the
consumer and a fall in the prce
of the normal good

s & & N A58
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‘(,(/A change in quantity demanded.
(d) A change in demand.

Increase & Decrease in DD

_l l6.. e the demand curve
indicates that thereisa changein de-
mand at each possible price because
one or more other factors, such as
Income, tastes or the price of some
other goods, etc. have changed.

45 A Shift of

() A movement along

(c) No movement in
(d) None of these
117. If roller-coaster ride is a func-
tion of amusement park visit, then,
il the price of amusement park
entry lalls
(ay The demand for roller-coaster
rides will rnse and the demand
curve will shift to right
(b) The demand for roller-coaster
ride cannot be predicted as it
depends on the tastes of consum-
ers for the ride
(¢) There will be an expansion in the
demand forroller coasterdrive as
it complementary

(d) None of the above

118. When more quantities are de-
manded at the same price due to
reasons other than price of the com-
modity, there will be

in the demand Curve:

& Rightward shift
(b) Leftward shift
(c) No shift

(d) Any of (a) & (b)

119. Leftward shift of demand curve
of coffee represents

¥4 Decrease in demand
(b) Increase in demand
(¢) Contraction

(d) Expansion

120. An Increase in demand can
result from:

(a) A dechne in the market price
\ﬂy) An increase in income

(c) A reduction in the price of sub-
stitutes

(d) An increase in the price of
complements

[CA CPT May 2018]

121. By ‘Change in demand’ repre-
sents which of the following?

(a) Movement: upward and down-
wards on the same demand curve

(6) Changeinbudgetline withchange
income

{(¢) Shift in the indifference curve

<& Shift of the demand curve to the
right or left

[July 2021}

122. Suppose the price of Pepsi in-
creases, we will expect the demand
curve of Coca Cola to:

{a) Shift towards left since these are
substitutes

(bs Shift towards right since these are
substitutes.

(c) Remain at the same level.

(d) None of the above

THEORY OF DEMAND AND SUPPLY

123. A leftward shift in the demand
curve may be duce to :

() Fall in income

(b) Fall in the Price of Substitute
(¢) Decrease in Population

7 Any of the above

124. During a recession, cCconomics
experience increased unemploy-
ment and a reduced level of income.
How would a recession likely to
affect the market demand for new
cars?

{a)

7

(¢) Demand will not shift, but the
quantity of cars sold per month

Demand curve will shift 1o the
right

Demand curve will to the left

will decrease.
Demand will not shift, but the
quantity of cars sold per month
will increase.

(d)

125. The movement upwards or
downwards on the same demand
curve resulting from a change in the
price of the commaodity is called as

(a) Change in demand

(/] Change in quantity demanded
(¢) Shifting of demand Curve

(d)

[ncrease in demand

126. Which of the following may be
a reason behind rightward shift of
the demand curve?

@) Rise in price of substitute
(h) Fall in price of substitute
(¢) Rise ol price of same commodity

(d) Fall in price of same comimodity

2.15

127. The diagram given below shows,
D1 ‘

Ruspiles il
P Qi =—Q

(a) A change in demand which may
be caused by a rise in income and
the good 1s a normal good

(b) A shilt of demand curve caused
by a fall in the price of a comple-
mentary good

(¥ A change in demand which 1s
caused by a nise in income and
the good is an inferior good

(d) Ashiftotdemand curve caused by
a rise 1n the price of a subsutute
and the good is a normal good.

128. Which of the following alter-
natives would be true if the event
presented in the following diagram
occurs?
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(@) A fall in wage costs of the firm
along with a fall in consumer
incomes

©&ra shortage of raw materials and
c€onsequent increases In raw
material price

(c) An increase in subsidy by the
government and a reduction in
taxes

(d) Decrease in the marker price of
the commodity in question

Price Elasticity of Demand

129. Elasticity of demand is the
bPercentage change in

divided by the percentage change
in on which demand

1
depends.

&) Quantity demanded, one of the
variables

() Quantity demanded, all the valu-
ables
(¢c) Quantity supplied, all the valu-
ables
(d) Quantity supplied, one of the
variables
130. Which of the following is
CORRECT for determination of
Price Elasticity of Demand?

% change in quantity

E demanded

(74 =

Nl % change in price
Change in Original
Quantity Price

(&) E, = Original @ Change in
Quantity Price
Aq P

(c) Ep: AP g

Wr)P All of the above

131. What is reason behind the fact
that Price Elasticity is negative?

(@) Price of commodity always fall

(b) Quantity of commodity always
fall .

9 Price and Quantity are inversely
related (with few exceptions)

(d) Price and Quantity are positively
related

132. The price of a commodity de-
creases from ¥ 6 per unit to ¥ 4 Per
unit and quantity demanded of the
goods increased from 10 units to
15 units. The Co-efficient of Price
Elasticity will be S

Xaj 3

&) 2

(gl

(d) 4

133. The demand for the commodity
is when a consumer
is a habitual consumer.

(a) Relauve elasticity

H7 Inelastic

(¢) Unirt elasticity

(d) Pertecuy elasuc

[June 2022]

134. Identify the factor which
generally keeps the price elasticity
of a good law:

(a) Vanety of uses for that good
5) Very low price of a commodity

(¢) Close substitutes for that good
(d) High proportion ol the consum-

ers income spent on it
[Jan. 2021]

135. A 5% fall in the price of a good
leads to a 15% rise in its demand.
The Price Elasticityis ____and

THEORY OF DEMAND AND SUPPLY

the good in question has
demand,

(@) 1/3, Elastic
Y 3, Elastic
(c) 1/3, Inelastic
(d) 3, Inelastic

136. The quantity demanded by a
consumer at price ¥ 9 Per unit is
800 units. As price falls by 25%, the
quantity demanded rises by 160

units. What is the Price Elasticity
of Demand?

(@) 1.3

b) 1

ey 0.8

(d) None of these

137. A Consumer buys 80 Units of a
good at a price of 7 4 per unit. The
Price Elasticity of demand is 4, At

what price, consumer will buy 60
Units?

(@) X 4 per unit

(&) % 4.25 Per unir
(¢) ¥ 4.80 Per unit
(d) None of these

138. The numerical value of elastic-

ity of demand can assume any value
between

(@) Zero and -1
¥ Zero and infinity
(¢) -1 and +1
(d) Zero and +1
[Dec. 2021]

139. The extent of responsiveness
of demand due to changes in any
of its determinants is regarded
as

{a) Price Elasticity of Demand

2.17

(b) Income Elasticity of Demand
(¢) Cross Elasticity of Demand
tdY’ Elastici ty of Demand
140. Suppose the income elastici
it
of demand of Air Conditioner (ACS;

is +1.8 We CaR conclude frq
that the AC is iy

@] Superior good

(b) Inferior good

(c) Necessary good

(d) Conspicuous good
141. Identify the coefficient of Pprice-
elasticity of demand when the per-
centage increase in the quantity of a

good demanded s smaller than the
Percentage fall in its price:

(@) Equal to one,

(b) Greater than one.

e Smaller than one.

(d) Zero.
142. There is decrease in price of
LEDTV afterbudget announcement
from360,000t02 50,000. As a result
ot which demand forithas increases
from 1,500 units to 2,006 uaiis, The
Elasticity of demand for LED TV will
be

.

{a) 1.27
(i)
(c) 0.63
(d) 067

\ iJune 2023])

143. Which of the following state-
ments about price elasticity of
demand is correct?

(@) Price elasticity of demand is
a measure of how much the
quantity demanded of a good
responds to a change in the price
of that good.
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~239. Advertising elasticity of demand
is typically

(a) Negative

(b) Zero

(c) Infinity
A7 Posiuve

[June 2022]

240. What will be the advertise
elasticity? e
% Change in Demand = 30%

% change in Price = Nil

)

o change in advertusement Expendi-
nure = 25%

o 12
(») 0.83
ic) 1
(d) 25

241. When the demand changes at a ’ Demand Forecasti N
higherrate than change in advertise- Tgl X =

_243. The zero advertisement Elastic-
Ity represents :

(@) Demand responds proportion-
ately

{6) Demand does not respond pro-
portionately

e Demand does not respond at all
(d) None of the above

?44. When the change in demand

is less than proportionate change

in advertisement expenditure, the

advertisement elasticity (E ) will be
equal to

@) E. =0

(6) E>0O

() E<1

(H E>0but<1

ot

ment expenditure, the advertisement
elasticity will be

(a) Zero,

() One
J#J More than one
(d) Less than one

242. If the advertisement expendi-
ture on X commodity increase by
20% and demand foritincreases only
by 5%. The advertisement elasticity
of demand for X commodity is

S 0.25
() (-)0.25
(c) 4

d) (-)4

d

(
[June 2022] (

(d) Statistical method

246. Method of demand forecasting

1&) Mathematical method

4 paioM=

245. Which of the following state-
ments is correct?

(@) With the help of statistical tools,
the demand can be forecasted
accurately.

A#) The more the number of substi-
tutes of acommodiry, more elastic
is the demand

(¢) Demand for butter is perfectly
elastic
(d) Gold jewellery will have negative

income elasticity.

oes not include?

b) Baromeitric method

¢) Expert opinion method

[CA CPT Nov. 2018]
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247. Forecasting of dEl’l‘Ja.l.Jd ;5 the
Art and Science of predicting:

{a) Actual demand of a product at
same future date

{77 Probable demand in future
(¢) Total demand in future
(d) None of these
[CA CPT Now. 2018]

248. The Delphi technique of
demand forecasting is also called
an

(@) Survey of buyers intentions
&) Expect opinion method

(c) Barometric method

(d) Controlled experiments

249 Ofthe following, who developed
the Delphi technique of demand
forecasting?

(a§ Olaf Helmer
() David Richardson
(¢) Michael Porter
(d) J.M. Keynes
(July 2021, June 2023]
250. Forecasting refers 1o knowing
or measuring the status or nature

of an event or variable
it occurs.

() Before

(b) When

(c) After

(d) Both (b) & (¢)

251. The demand for cement in
India is forecasted. It refers 1o

(a) Micro level lorecasting

(b) Long-Term forecasting

2.31

(c) Industry level forecasting
(d) Firm level forecastuing
252. Method of demand forecasting

does not include?
(a) Mathematical method
(b) Barometric method
{7 Expert opinion method
(d) Statistical method
[June 2023]

2 5 A e e demand forecast-
ing is generally useful in tactical
decisions.

Jg1 Short-term

(b) Long-Term

(¢) Very Long Period
(d) Both (a) & (b)

254. The demand for a commodity
that arises because of the demand
for same other commodity (prevent
product) is called as

) Demand

(b) Direct Demand
(¢¥ Derived Demand
(d) Implied Demand

255. If the demand for a product
is independent of the demand for
other goods, then it is called as

(a) Derived Demand
7 Autonomous Demand
S¢7 Industry Demand
(d) Implied Demand

256. Which of the following are con-
sumer’s goods?

(a) Readymade clothes

(b) Prepared Food

IR
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(¢) Residential Houses
w All of the above

257. Identify Producer’s goods out
of following :

(@4 Plant and Equipment
(b) Readymade clothes
(c) Residential Houses
(d) All of the above

258. Which of the following factors
affects demand for non-durable
consumer goods?

la) Disposable Income

(b) Price

(¢) Demographv

{7 All of the above
259. In order to find our turning
points, it is necessary to find out the
general behaviour of the economy.
This method of forecasting is called
as :

(a) Conurolled Experiments

(& Barometric Method

(c) Srtaustical Method

(d) None of these
260. method of fore-
casting includes the methods:

# Complete Enumerations

# Sample Survey

# End Use

(a) Collective opinion

(77 Survey of Buyer's intentions
(c) Expert Opinion

(d) Baromelric

261. Under

method of demand forecasting, the
future demand is estimated by con-
ducting market studies and experi-
MEnts on consumerbehaviour under
actual, though controlled, market
conditions,

(a) Controlled Experiment method
(b) Market Experiment Method

(¢) Barometric Method

(¢Y Both (a) & (b)
262. Which one of the following is

the statistical method of demand
forecasting?

(a) Trend Projection Method
(b) Fitting Equation Method
(¢) Regression Analysis
(@Y All of the above

263. Which of the following is not
a statistical method of demand
forecasting,

(@) Regression Analysis

m Survey of Buyer’s intensions
(¢) Least Square method

(d) Free hand projection method

264. Demand forecasting by means
of asking customer what they are
going 1o buy comes under

(a) Staustical method
(b) Grass roots method
MSun'c\ of buvers intention
(d) Experts opinion method
[Nov. 2020]
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UNIT 2 : THEORY OF coN's'UMER'.BEHA’\_nclTj'ii;‘.j;. ‘

Nature of Human wants
265. All

ofhuman be-
ings are called wants in Economics,

(a) Desires
(b) Tastes
(¢) Motives

(@Al of these

266. Wants may arise due tgo
causes,

(@) Elementary
(b) Psychological
(¢) Internal

(¢ Both (a) & (b)

267. Which of the following is not
the characteristic of wants of hu-
man beings?

(a) Wants are unhmited
(6) Wants are subjective & relative
(c) Wanis are affected by income,

taste, fashion, advertisements and
social customs

\(y\-\‘ams donotvary with time, place
& person,

268. Wants arise from multiple
causes including

(@) Natural instincts
(b} Social obligations

(¢) Individual's economic & social
status

t‘c})’ All of the above

Classification of Wants

269. Which of the following is one
of the categories of wants?

(a) Necessaries

(b) Comforts
(¢) Luxuries
(@r All of the above

270. Which of thc-following is NOT
an example of Luxuries?

(@) Expensive clothing

() Exclusive vintage cars

(¢) Classy furniture

@7 Labour Saving equipments

271. Which of the following is NOT
an example of Necessaries?

(a) Nourishing food

(b) Adequate clothing & clean waler
(¢} Comfortabje dwelling

(@ Expensive clothing

Law of Diminishing Marginal
Utili

272, is the
by the Consumer and
is the actual satisfaction derived -

4" Utility, anticipated satisfaction,
sausfaction

(b) Utility, actual sauisfactory, desire
(¢) Desire, utility, satisfaction
(d) None of these

273, is the want satisfy-
ing power of a Commodity.

(@Y Utdility
(b) Marginal Unlity
(c) Desire
(d) Desired Utlity

274. Which of the following state-
ments about utility is incorrect?

(@) Uulity 1s ethically neutral
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%) A commodity has utility even
when it is not consumed
(¢) Utlity is subjective and varies
from person to person
@/’)/Ulility is the same thing as usefu].-
ness

[Dec. 202 1]
275. Which of the following theories
explains consumer behaviours?

() Marginal Utility Analysis
(£) Indifference Curve

(¢) Returns to scale

(@ Both (a) & (b)

276. Udlity is the numerical score

in terms of * " representing the
satisfaction that a consumer obtains

from the consumption of a particu-
lar good.

(a) Points
(g7 Utils
(c) Units
(d) Numbers
[Dec. 2021]

277. Marginal Utility Analysis has
been propounded by :

(a) Marginal Utility

(&) Average Utility

{# Toral Utility

(@) Incremental Marginal Utility

280. is the additional
made to total utility by the con-

sumption of an additional unit of a
commodirty.

{7 Marginal Utility

(5) Average Utility

(¢) Total Utility

(d) Incremental Marginal Utility

281. When economists speak of the
utility of a certain good, they are
referring to:

(@) The demand for the good.

(6) The usefulness of the good in
consumption.

{7 The expected satisfaction derived
from consuming the good.
(d) The rate at which consumers are

willing to exchange one good for
another.

282. When rtotal utility is diminish-
ing, the marginal urility is

S Marshall (a) Diminisher
(b) Hicks (b) Zero
(c) Allen {ef” Negative

(d) Hicks & Allen

278. Alfred Marshall was a
BT economist.

(¥ British

() American

(c) European

(d) Asian
279, is the sum of

marginal utilities derived from the
consumption of different units.

(d) Increases

[June 2022]

283.The aim of the consumerin allo-
cating his incomeisto

{gr” Maximize his total utility.
(b) Maximize his marginal utility

(c) To buy the goods he wants most

whatever the price.

(d) Tobuythe goodswhichheexpects

to be short in supply

THEORY OF DEMAND AND SUPPLY

284. Additional made to total utility
refers to?

(@) Total utility

(b) Average utility
{g¥ Marginal utility
(d) All of the above

285. At the point of satiation, TU is
and MU is

el Maximum, Zero
() Minimum, Zero
(¢) Zero, Zero

(d) Maximum, diminishing

[Dec. 2021]
286. Which Equation is correct-

MUy _ P,

i MU, P,/

(b) MU, P,
MU, ~ P,
MU

(c) ——=% ¢ E‘.
V0L
MUy , P,

(d) MU, " P

[CA CPT Nov. 2018]

287. Marginal rate of Substitution of
X for Y is calculated as 1%

(@) Change in X/change in Y
(b) Px/Py
(c) Py/Px
W Change in Y/change in X
[Dec. 2021]

288. From the following data given
below answer questions 251 and 252-

— —

Units | TU

R0 )
200

1
7

3 180

2.35

Total utility derived from 2nd unit?
~) 380

(b) 20

(c) 100

D0 [CA CPT Nov. 2018]

289. Marginal utility of 3rd unit is?
(a) 200

(b) 280

e 100

(d) 50

[CA CPT Nov. 2018]

290. When marginal utility is zero
then total utilityis .
g}~ Maximum

(b) Lower

(c) Negative

(d) Increasing
291. Supposing that total utility is
100 at 10 units of consumption of a
commodity. If consumer increases
the consumption by one more unit
and owing to that total utility in-
creases to 108.

The marginal utility of last units
consumed will be

s

(b) 100
(c) 108
‘(d) 101

[June 2023] ‘

292. Budget line is otherwise called
as

(@) Money line
(b) Preference line
(¢) Income line

(Y Price line
[Nov. 2019]
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293, The Consun
Hum when the o
is satisfied:
(@) Budget line
Clrye
(b) MU, MU, mu,
'l

’
\ P, P,

{2 Both () and (h)
(d) None of the above
[CA CPT May 2019
294, An indifference curve is a
curve which represents all those
combinations of two goods which
gva . o the CONsUMmer,

N7l Equal satisfaction

(h) Greater satisfac tion

er s in equilil.
Howing condition

I5 tangent 1o the 1

(c) Lesser satisfaction
(fl.' \‘rlliilljlc satisfaction
295, Cardinal approach is related to:
(a) Indiference curve
‘\’?([;ql,n marginal utility
(c) Law of diminishing returns
(d) None of these
[CA CPT May 2018]
296, Which economist said that mon-
ey is the measuring rod of utility?
(a) A.C. Pigou
A Marshall
(¢) Adam Smith
(d) Robbin
[CA CPT May 2018]
297. Which of the following relation
is true with MU?
(a) When MU is positive, Total utility
rises at a diminishing rats

() When marginal utility is zero

total utility is maximum
() Whenmarginal utilityis negative
total utility is dirninishing

W All of the above
[CA CPT May 2019]
298, Total utility in maximum whent
G Mavginal utility Is zer0.

(h) Marpinal By 1s at s highost
point,

() Marginal utility is nepative
(d) None of the above

299. The second glass of lemonade
#ives lesser satisfaction to u thirsty
boy. This is a clear case of:

(a) Law of demand,
(H) Law of diminishing returns
Loy Law of diminishing utility,
(d) Law of supply
[Tan., 2021 ]

300, When TU is deducted from
TU , the resultant is

(g Marginal Utility
(b) Average Utility

() Total Utility

(d) Incremental Marginal Utility
301. Marginal Utility Analysis is
i o Concept.

(g7 Cardinal

(£) Ordinal

(c) Sequential

(d) None of these

302, Which of the following is not
an assumption of Marginal Utility
Analysis?

ld) Pf'HfHJ?JiJE‘.

(b))

/

Cardinal Measurability of Utility

(c) Hypothesisol independent utility

’fV[;.r reasing Marginal Utility ol
VIOTICY
303, Law of Diminishing Marginal
Utility is derived from which of the
lnllm.;ving concept?

THEORY OF DEMAND AN sUPPLY

() Consumer Surpliis
W Additional Uity
() Toial utility

() Producer Surplus

IDec. 2021
304, As per the hypothesis of it
Utility, the total utility
which a person gets from the whole
collection of goods purchased by
him is simply the sum total of the
separate utilities of the goods,
ta) Dependent
BT Independent
(0) Related
() Alfecied

Read the following table and answer
questions (265-266)

Ounntl ; .
1y Cone | 0 | 2 \ 4 5
sumed

Tulal

- |
il
- |

Hin

P Ee
0 1300|500 650] 750
Utility Al L

305. What is marginal utility when
consumption increases from 4 units
to 5 units?

(a) 130
{1 80
(c) 160
(d) 100

AY0 1910 'ml?l

[July 2021]

306. What is marginal utility when
consumption increases from 7 units
to B units?

(a) 60
(b) 100
(c) 40

u}/) 10)
[July 2021]
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307, According (o neq.
economists, utility iu o
concept, Tt means:

() Utility is o measurable and quun-
tiliable entity,

h) A puychological unit of meastye-
ment of utility is available called
as ‘UTILS',

(€) Utilities from different units of
the commodity can be added,

(d> All of the above,

308. Hicks and Allen believed that
atility o

clagsleal
cardinal

(a) Canbe measured in ordinal num.
bers

(h) Can be measured in cardinal
numbers

e Cannol be measured
(d) Cannot be expressed

[Dec. 2021]
309. The Marginal Utility can be

(a) Positive

(b) Zero

(c) Negative

{dY Any of above S

Consumer’s Surplus

310.The concept of Consumer’s Sur-
plus was propounded by

\{ar Allred Marshall
(b) Ticks & Allen

(c) J.B. Say

(d) None of these

311. If a Consumer gets more util-
ity from a commodity, he would be
willing to pay a higher price and vice
versa. This extra satisfaction which
consumer gets from the purchase of
goods is called as
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(@) Producers Supply

& C onsumers Surplus

(¢) Extra Utility

(d) Excess Marginal Utility

R X
31:.. w !n_ch of the following state-
ment is incorrect as regards Con-
sumer’s Surplus?

(@ 1t can be measured in money

() It cannot be measured precisely

{¢) It is affected by a variability of
substtutes 3

(d) Itisalwaysinfinite for necessaries

313. By consumer surplus, econo-
mists mean
(@) The area inside the budget line.

() The area berween the average
revenue and marginal revenue
curves.

(¢) The difference between the maxi-
mum amount a person is willing
to pay for a good and its market
price.

(d) None of the above

314. In the diagram given below, the
shaded portion represents.

Price

O
Quantity Demanded
Price above which there 1s no

(a)
demand for the commodity-

THEQRY OF DENIAND AND SUPPLY

(&) Monopoly price of the commodity.
¥ Consumer surplus. :
(d) None ot the above.
315. Consumer’s surplus = what the
consumer is ready to pay minus

w

{g¥ What is actual price of the
product

(&) What is income of the consumer
(¢) What he actually pays

(d) What is actual surplus

[June 2022]

316. Purushotham wanted to buy
laptop by paying I 60,000 but
the actual price is T 55,000, then
consumer surplus is

a) 6,500
(&) 55,000
¥ 5.000
(d) 60,000
[Nov. 2020}
317.Whichofthe followingis/are the
condition’s of theory of consumer
surplus if price is same for all the
units he purchased?
(a) Consumer gains extra utility or
surplua
(b) Consumer surplus for the last
commuodity 1S Zero

“‘./Both

(d) None

[CA CPT May 20191

318. The concepl of consumer’s
surplus is derived from:

(g¢y The law of diminishing marginal
utility

(b) The law ol cquul-margmai utility

(¢) The law ol diminishing returns
(d) Engel’s law

[CA CPT May 2018]

THEORY OF DEMAND AND SUPPLY
for a good and its market price-
‘\9 Difference benw

319. The concept of consumer sur=
plus is derived from

(@) The law ot Demand
() The law of Supply
(&> The law of diminishing marginal
utility
(@) Indifference curve Analysis
[Dec. 2021]
con-

320. In case of necessaries,
sumes surplus is?
JgF Infinite
() Zero
(¢) Equals to one
(d) More than one
[CA CPT Nov. 201 8]
321. Producer surplus arises
when:

(@) The price of the product 1s less
than the minimum price at which
they would be prepared to supply
the product.

(b) The price of a product is equal 10
the minimum price atw hich they
would be prepared to supply the
product.

\JeJ The price of a product is greater

than the minimum price atwhich

they would be prepared 10 supply

the product

(d) The price of a productis equal 10

the marginal cost of the product. e

322. Marshall defined the concept of ¥
consume surplusas the

(a) Area coveredin betwee
age revenue
curves

(b) Area inside the budget line.

(¢) Difference between the min

amount a PL‘I‘S

323, Consider the following *

-]

The Consumer's surp
diag.ramis e

n the aver-
an marginal revenue

mum
on is willing Lo pay

2.39

cen the maximum

amounts a person is willing t©

pav for a good and the amount

he actually pays.
July 20211

lus in above

-
g
o
’
L
Lo
7
o

(@) OQRP
(b) RQD,
{gr DPR
(d) ODD,

Refer to the figure below.
questions 283 and 284

324.The effecton commer_surplus
of fall in price from E to F is

N

Answer
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(@) A decrease in consumer surplus
by EFGR

(&) A decrease in consumer surplus
by AER
‘(})v A decrease in consumer surplus
by EFCR
(d) None of the above

325. When price rises from F to B
the increase in revenue earned by
the seller is

¥ Equivalent to area EFGR

(&) Equivalent to area EFCR

(¢) Equivalent to area AER

(d) None of the above

Indifference Curve Analysis
326. The indifference curve analysis
is based on utility.
N7 Ordinal
(&) Cardinal
(¢) Quantitative
(d) Numeric
327. Which of the following is a prop-
erty of indifference curves?
(a) Indifference curves are always
concave to the origin
(&) Indifferencecurvesslope upwards
to the left
(¢) Twoindifference curvescantouch
or cut each other

\-(‘{) An indifference curve will not
touch either the X-axis or Y-axis

[Dec. 2021]

328. Let assume that in OY-axis we
have good A and on OX-axis good B.
If the price of good B increases by
Z 1 but the price of good A remains
constant and income also remains
unchanged, the budget line will shift

THEORY OF DEMAND AND SUPPLY

(@) Left on OY axis
{¥) Left on OX axis
(¢) Right on OY axis
(@) Right on OX axis
[Now. 2020]
329. Which one is not an assump-
tion of the theory of demand based
on analysis of indifference curves?
(@) Given scale of preferences Las
between different combinations
of two goods.

(6) Diminishing marginal rate of

substitution.
yConstam marginal utility of
money.

(d) Consumers would always prefer
more of a particular good to less
of it, other things remaining the
same.

330. Which of the following is not
the property of indifference curve?
(a) Slopes downwards to the right

() Always convex to the ongin

\{gr Intersects each other
(d) Will not touch either of the axes
[CA CPT May 2019]

331. Indifference Curve analysis is
based on which approach?

\r’;y)’ Ordinal

(b) Cardinal

(¢) Marginal

(d) All of the above

[July 2021]

332. Which of the following is not
the property of indifference curve?
(a) IC is convex to the origin

(b) IC scopesdownwards [rom left 1o

right

THEORY OF DEMAND AND SUPPLY

& Two IC can touch each other
(@) IC cannot touch either of the axis
[CA CPT Nowv. 2018]

333. An indifference curve slopes
down towards right since more of
one commodity and less of another
result in:

J&T Same level of sausfaction.

(&) Greater sausfaction.

(¢) Maximum satisfaction,

(d) Any of the above.

334. Which of the following is a
property of an indifference curve?
[a) Itis convex to the origin.

(b) The marginal rate of substtution
1S constant as you move along an
indifference curve.

() Marginaluulityis constant as you
move along an indifference curve.

(d) Total utility is greatest where the
45 degree line cuts the indiffer-
ence curve.

335. An IC shows
between the commodity?

MRS

(a) Increasing
\p7T Decreasing
(c) Constant

(d) Zero
[CA CPT Nov. 2018]

336. The indifference curve for two
perfect complementary goods is

(a) Slopes downward
~#) L-shaped
(¢) U-shaped
(d) Straight line
[June 2022]

2.41

337. How would that budget line be
affected if the price of both goods
fell 2

(@) The budget line would not shift.

(b) The new budget line must be
parallel to the old budget line,

(¢) The budget line must be shifting
to the left.

$g7” The new budget line will have the
same slope as the original so long
as the prices of both goods change
in the same proportion.

338. The figure below shows the
budget constraint of a consumer
with an income 0f? 900 to spend on
two commodities, namelyice cream
and chocolates.
Y
90
Quantity of
chocolates

0 a5 X
Quanuty of cups of ice cream

The prices of these two commodities
respectively are:

(a) T10and T 20
" ¥20and ¥ 10

(c) T10andT 5

(d) Any of the above

339. Indifference curve is L shaped
then two goods will be:

(@) Perfect substitute goods
(b) Substitute goods
() Perfect complementary goods
(d) Complementary goods
[CA CPT May 2018, Nov. 2020]
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340. W:h.ich of the following state-

ments is incorrect?

(@) An indifference curve must be
downward-sloping to the right.

(6) Convexity of a curve implies that
the slope of the curve diminishes
as one moves from left to right.

L2 The income elasticity for inferior

goods to a consumer 1S positive.,

(d) The total effect of a change in the
price of a good on its quantity de-
manded is called the price effect.

341. Which of the following is a pro-

perty of an indifference curve?

&Y It is convex to the origin.

(6) The marginal rate of substitution
Is constant as you move along an
indifference curve.

(¢) Marginal utilityisconstantas you
move along an indifference curve.

(d) Total utility is greatest where the
45-degree line cuts the indiffer-
ence curve.

[Nov. 2019]

342. A point below the budget line

of a consumer

(g Represents a combination of
goods which costs the whole of
consumers income.

(6) Represents a combination of
goods which costs less than the
consumer’s income.

(c) Represents a combination of
goods which is unattainable to
the consumer given his/her money
income.

(d) Represents a combination of
goods which costs more than the
consumers’ income,

343. is a curve which
represents all those combinations of

o e .= 2 5, 0 L L S MR T AR R
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two goods which give same satisfac-
tion to the consumer.

(@) Indifference Curve
() Iso-Utility Curve
(c) Equal-Utility Curve
J4Y All of the above

344. represents a
collection of many indifference
curves where each curve represents
a certain level of satisfaction.

(@) Indifference Group
%) Indifference Map

(¢) Indifference Aggregate
(d) Market Map

345. Consider the following:

Y
4

Good Y

1C,

= X
Goods X

In the above indifference map, which
point gives highest satisfaction?

(a) A
(b) B
(c) C
(&) Both (¢) and (d)

346. The Indifference curve for two
perfect complementary goods is

(a) U-shaped
(b) Swraight line
(¢) Z-shaped

(d)~1-shaped

[July 2021]
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(c) Consta-nl MRS
(d) None of the above.

352. If indifference curve is ‘I’
shaped then two goods will be called
(b) Change in demand as

\A4<T Change in income (a) Perfect superior goods
(d) Change in utility (b) Perfect inferior goods
() Perfect quality goods
;351'4)’ Perfect complementary goods

[June 2023]

353. Which one of the following
Statement is incorrect about Indif-

347. A shift in budget line occurs,
when prices ofthe two goods remain
constant, is due to

(@) Change in preferences

[Dec. 2021]

348. — is the rate at
which a consumer is prepared to

exchange group X and Y.
{4 Marginal Rate of Substitution
b) Average Rate of Subsritution ference Curve?
(¢) Mathematical Rate of Substitu- (a) Always Convex to the origin
tion (b) Never intersects each other
(d) None of the above (¢) Higher Curve represents higher
339. When MU, is divided by MU, level of sausfaction.
then it is the marginal rate of sub- (@It may touch X axis but never Y

stitution of 3 axis.
“@) A for B 354. A higher indifference curve

shows a higher level of satisfaction
than a lower one. Therefore, a con-
sumer, in his attempt to maximize
satisfaction will try to reach the
possible indifference

(b) BforA
(c) A & B for other Product
(d) None of these

350. Why does demand curve slopes
downwards?

curve.

a7 Highest

(&) Lowest

(€) Any of (a) or (b)
(d) None of these

(a) Lawol diminishing marginal cost
W) Arrival of old Consumers
(¢) Cost effect
(d) Different users
355. The consumeris in equilibrium

[an. 20211 a point where the budget line:
351. When the consumer has more
and more unit of food, he is prepared
to give up less and less units of cloth-

ing. Itis due to
A Falling MRS
(h) Rising MRS

(@) Is above an indifference curve,
(D) Is below an indifference curve.

atd e, Wy UeT Istangenttoanindifference curve.
{(d) Cuts an indifference curve.

356. The scope of the indifference

curve shows consumer equilibrium
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THEORY OF DEM AND AND SUPPLY
at paint where MRS‘“, ! 2 ©) Consume more of X and lessof Y
P, and reach point K

_P—m { ce line) (@) Consumey same quantity of Good
A} ~

Y and more of Good X

A59. Which of the following state.
ments is true about this consumer?

@) Less than
(&) More than -
W& Equal 10

) \t‘ik‘ of the above

\

(@) The consumer is not maximizing
her utility at point K

[(TA CPT Now 2018] (&) The consumer is spending hex

- < *nure income on both goods
357, The Slope of Indifference cunve d e
e PR il

: (&) Theconsumer ge 1sequal pleasure
3 ] 2 at pomts Band K
p* Marginal Rate of Substitution It point «
4 . N All the aboy
@} Minimal Rate of Substitution - S o
360. The slope of the ‘Price line” in-
ion

dicates the ratio between
of the two goods.

Refer to the figure below. \nswer

8 | l‘ -
N Nee
Questions 316 and 317

(5) Quantities demanded
358. If this consumer is spending Ak
her entire income and consuming o
at point B, what advise will vou (@) Marginal Utliny
given her?

anunes Sold

36l. Indifference curve slopes
Ya downwards as one product increase
and another \‘]L‘Cl"\‘.l&t‘.\ because
- \\\ ‘h‘.-‘ ‘E‘l‘ e,
D & (¢+ Equal sausfaction
-~ A
: (&) Greater Satsfaction
> (¢) Lesser Satisfaction
(@) None
[Now. 2019]
0 UNIT 3 : SUPPLY

No advise needed as she is maxi- IntrOdUCtion . ke 3%
e ek i g 362. The supply of a good refers to:
&> Consume more of Good X and

ss of Good Y

| 1 rTth ~ 9
Actual production of the g00Q

. ¥ 1 tine stock of the ~ood
iofal exasuang stock of t g

THEORY OF DEMAND AND sSuPrPLy

(©) Stock available tor sale

D Amount of the good oftered for
sale at a particular POICe per unit
ol time

ow 2019

303, Supply ix a concept,

Yt Flow
(&) Srock

)

(©) Flow and stock, both

(@) Qualitative

[CA CPT May 2018, Jan, 2021)
364, Supply is the:

) Limited resources that are avail

able with the seller
(®) Cost of produc mng a good
& Entire relationship between the
quanuty supplied and the price
ol 3:0\‘\1

@) Willingness to produce a good

it the technology to produce it

becomes available

365. The quantity supplied of a good
or service is the amount that

(@) Is actually bought dur INg a given
ume period at a given price

) Producers wish thev could sell at

a higher price
(€¥ Producers plan to sell during a
-y 1

venume period ata given price

People are w Uhng to buy during a

given ime Pcrniod ata given price

366. In a very short period, the
supply:

La

De changed
1" Cannot be ch anged
Can be increased

None of the above

2,45

367, Which of

the following state.
ment is correct?

o .\‘npph N inversely velated 1o its
vost of production
M Price and Quantity demand of o
roods have divect relationship
(©) Taxes and subsidy has no pact
on the supply of the product
) .\‘c.\mu.:lch«ug\*\h.nr noimpact
on the supply of the commadity
JOR. 1IF a short yun supply curve
is plotted tor the tollowing table
which presents price and quantity

ol the acroplanes, what will be jis
shape?

Price in Million Number of

$ Acroplanes
| 248 52 f
| 280 ' 52 ‘
! .
00 l 52 ‘
120 ! 52 1
:} \ﬁ\ ! 52

(@) Horizontal straight line parallel
to the quantity axis

(H) A perfectly elastic supply curve

W&+ A perfectly inelastic supply curve
{
(d

~—

Steeply rising with elasticity less
than one

[Dec, 2021
The term supply refers to the
amount of goods or services that
the producers | " to
the market at value prices during o
given period of time.

369,

@) Willing to offer
(&) \l‘lg'lluﬂllcl
(€) Actuallv Sold
k.)')/l%nih (@) & (b)
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Shifts in Supply Curve o
388. An increase in the supply of a
good is caused by:
(@) Improvements in its technology,
(&) Fall in the prices of other goods.

(c) Fall in the prices of factors of
production.

‘@’AII of the above.

389. When supply curve moves to
right, it means

MSupply increases,
(£) Supply decreases.

(¢) Supply remains constant.
(d) None of the above.

390. When supply curve shifts to the
right there is:

{g¥"An increase
(b) Expansion
(c) Contraction
(d) Decrease
[CA CPT May 2018]

391. When supply curve moves to
the left, it means

{(g7” Smaller supply at a given price.
(b) Larger supply at a given price.
(c) Constant supply at a lower price
(d) None of the above

392. When the supply curve shifts
to the left or right, it is called as

or _insupply,
respectively.

(a) Decrease, Decrease
‘J—f)/l)v( reases, Increase
(¢) Increase, Increase

(H'.l Increase, Decrease

THEORY OF DEMAND AND SU PPLY

Elasticity of Supply

393. Elasticity of supply refers to the
degree of responsiveness of supply
of a good to changes in its:

{a) Demand.
by Price.

(¢) Cost of producuon,

(d) State of technology.

394. If there are large number of
producers in the market of a product
and there is high competition among
them, then the elasticity of supply
will be:

@ More
(b) Less
() Zero
(d) InfAnity

395. A vertical supply curve parallel
to the Y-axis exhibits that the elastic-
ity of supply is

m Zero

(b) Infinite

(¢) Elasuc

(d) Inelastic

[June 2022]

396. If elasticity of supply is infinite,
the supply curve will be:

) Parallel to x axis
(b) Parallel to y axis
(c) Upward sloping

(d) Downward sloping

397. Price elasticity of supply re-
fers to change in responsiveness of

quantity to change in:

u)/]’l 1ce

(h) Price in substitute

THEORY OF DEMAND AND SUPPLY

(¢) Income
(d) Preference

[Nov. 2019]

398. The elasticity of supply is de-
fined as the

g7 Responsiveness of the quantity
supplied of a good 1o a change in
1ts price
(b) Responsiveness of the quantity
supplied of a good without change
1N 1ts price.

(¢) Responsiveness of the quantity
demanded of a good 1o a change
1n 11s price.

(d) Rcsponswencssofthcquanutyde-

manded ol a good without change
in its price.

399. Elasticity of supplyis measured
by dividing the percentage change
in quantity supplied of a good by

la) Percentage change in income,
(b) Percentage change in quantity
demanded of goods.
¢} Percentage change in price.
(d) Percentage change in taste and
preference,
400. Which of the following state-
ments is correct?
(@} When the price falls the quantity
demanded falls.
(b) Seasonal changes do not affect
the supply of a commodity
(¢) Taxes and subsidies do not influ-
ence the supply of the commodity.
{d)” With lower cost, it is profitable to
supply more of the commodity.
401. When price of a commodity
Rises from 200 to ¥ 300 and Quantity

2.49
supplyincreases from 2,000 10 5,000
units find elasticity of supply?
JaJ 30

(b) 25

(c) 0.3

(d) 35

[CA CPT Nov. 2018]

402. If the price of sugar increases
from 8,000 to 10,000 per tone and

due tothat quantity supplies of sugar
increases from 2000 to 2500 tones.
Compute the elasticity of supply

(@) (-)1
MB) 1

(c) (-) 0.4
(d) 0.4

[June 2022]

403. If price of computers increases
by 10% and supply increases by 25%.
The clasticity of supply is ;

) 2.5

(b) 0.4

() (-)2.5

(d) (-)0.4
404. Due to introduction of 5G mo-
bilesin the market, ihe price of such
mobiles has increased by 20% and

there by supplyincreased by 40%the

elasticity of supply will be which of
the following?

(a) 0.5
k) -05
(c) -2

l [June 2023] ’

405. When No. of tourists increase
at a place for which the room rent
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of hostel also increases. Then the
elasticity of supply of room will be

(@) Zero
_v(b') <1

(c) >1

d) =1

406. If quantity supp!‘ed changes

substantially in response to small
changes in price of the good, thenitis

(a) Perfect elastic
(5) Unuary elastic
(¢) Relatively less elastic supply
\(}Q’Rclmivel_v greater elastic supply
[Nov. 2020]

407. When elasticity is measured at
a given point on the supply curve
is called as which of the following?

(a) Unit elasucity
(br Point elasticity
(¢) Supply elasticity
(d) Limited elasticity

[June 2022]
408. The Price of Com_mcdit_y X
increased from < 2,000 per unit to

72,100 perunitand consequentlythe
quantity supplied rises from 2:590
units to 3,000 units. The Elasticity
of supply will be
(a) 2
U4
(e)2b
(d) 0
409. The supply function is given as
Q =20p-200. The elasticity of sup;_)ly
using point method, when the price
is ¥ 30 will be

THEORY OF DEMAND AND SUPPLY

(@) -1.5
b)) +1.5
(c) +0.66
(d) -0.66
[Dec. 2021]
410. Perishable commodities will
have e
(a) Perfecily elastc curve
(b)~Perfectly inelastic curve
(c) Elastic
(d) Inelastic
[CA CPT May 2019]
411. A vertical supply curve parallel
to Y axis implies that the elasticity
of supply is:
gy Zero.
(&) Inhnity.
(¢) Equal 1o one.
(d) Greater than zero but less than
infinity.
412. A horizontal supply curve paral-
lel to the quantity axis implies that
the elasticity of supply is:
(a) Zero.
(Y Infinite.
(¢) Equal to one.
(d) Greater than zero but less than
one.
413. In case of a perfectly elastic sup-
ply, price elasticity of supplyis
and the supply curve becomes

(a) Zero, vertical
(b) One, upward sloping
(c) One, downward sloping

(via/[nfimlc, horizontal
[Dec. 2021]

THEORY OF DEMAND AND SUPPLY

414. If the percentage change in
supply is less than the percentage
change in price it is called

(@) Unit elasucity of supply.
(b) Perfectly clastic.

(¢) More clastic supply.
\d),[nc]nf-nc supply.

415. Elasticity of supply is zero
means?

N7.9) Perlectly inelastic
(b) Perfectly elastic
(¢) Imperfectly elastic
(d) All of the above
[CA CPT Nov. 2018]

416. If the quantity supplied is ex-
actly equal to the relative change in
price then the elasticity of supply is:
(a) Less than one.
(b) Greater than one.
{7 One.
(d) None of the above.
417. Elasticity of supply is gieaier
than one when
\{g7” Proportionate change in quantity
supplied is more than the propor-
tionate change in price.
(b) Proportionate change in price is
greater than the proportionate
change in quantity supplied.

(¢) Changein priceand quantly sup-
plied are equal.

(d) None of the above.
418. When the supply of a product
is perfectiy inelastic then the curve
will be

Wtkn;al!ul to Y - axis

(b) Parallel to X - axis

2.51

(¢) Al the angle of 45°
(d) Sloping upwards
[CA CPT May 2019]

419. The cross elasticity between
Rye bread and Whole Wheat bread
is expected to be:

J(g¥” Positive
(b) Negauve
(¢) Zero

(d) Can't say

420. The supply function is given as
Q=-100 + 10P. Find the elasticity us-
ing point method, when price isT 15.

(a) 4
(b) -3
(c) -5

3

Equilibrium Price

421. Equilibrium refers to a market
situation where quantity demand
is _ to quantity supplied.

(@ Equal

(b) Less than or Equal
(¢) More than

(d) More than or equal

422, The equilibrium price is deter-
mined by the inter—\sectinn between

and . It is also
called asthe

(@) Demand, Supply, Stauc

(b) Demand Supply, Dynamic
(¢) Supply, Demand, Partial
&J/)’Dcrﬂumi Supply, Market

equilibrium.

Lo
=
=
-
-
[c ]
¢

¢

¢

{





















Soicme z coic v = =nE ¢ 5 feonomes enfee Dol










3.6

THEORY OF PRODUCTION AND COST

(@) Robbins
(5) Adam Smith
(€) Schumpeter
(d) Sweezy

[CA CPT june 2008]

4171. 'li'he basic minimum objective of
all kinds of €nterprises is to survive
or to stay alive. It may be regarded

as A
objective
enterprise. DI

(a) Organic

(5) Economic

(c) Social

(d) National
3’8. — (‘)bjective implies
m: g;'_:?t maximizing behaviour of

(a) Organic

(&) Economic
(c¢) Social
(d) National

49. mobilizes factors
~of production, combines them in
the right proportion, initiates the
process of production and bears the
risks involved in it.

(a) Businessman

(b) Manager

(c) CEO

(d) Entrepreneur
50. Which one of the following

* function is performed by entrepre-
neur?

(¢) Initiaung Business Enterprise
and resource Co-ordination (

(b) Risk-bearing oruncertainty bear-
ing {
(¢) Innovations

(d) All of the above

51. According to
true function of
to introduce inn

(@) Schumpeter

(b) Peter Ducker

(c) Paul Samuelson
(d) None of the above

an entl‘cpreneur is
ovations.

Production Function

52. Which of the folluwing is the

best -definition of “production
function”?

(a) The relationship between market
price and quantity supplied.
(b) The relationship between the

firm’s total revenue and the cost
of production.

(¢) The relauonship between the
quanuties of inputs needed 1o
produce a given level of output.

(d) The relationship berween the
quantty of inputs and the firm’s
marginal cost of production.

53. Technological relationship be-
fween inputs & output

(a) Production function
(b) Marketing
(c) Supply function
(d) Social function
[June, 2023]

54. A production function is
defined as the relationship bet-
ween -

(a) The quantity of physical inputs

and physical output of a firm

b) Stock of inputs and stock of out-
put

¢) Prices of inputs and output

(d) Price and supply of a firm

[CA CPT Dec. 2012]

THEORY OF PRODUCTION AND COST 3.7

55. The production function is a
relationship between a given com-
bination of inputs and:

(a) Another combination that yields
the same output

(4) The highest resulting output

(¢) The increase in output generated
by one-unit increase in one out-
put

(d) All levels of output that can be
generated by those inputs.

56. What is a production function?

(a) Technical relationship between
physical inputs and physical out-
pur.

(b) Relationship between fixed fac-
tors of production and variable
factors of production.

(c) Relationship between a factor
of production and the utility
created by 1t

(d) Relationship berween quantity of
output produced and ume taken
to produce the output.

57. Production function is:

(a) Purely a technical relationship

between input & output

(b) Purely an economic relationship

berween input & output

(c) Both the technical & economical

relationship between input &
output

(d) None of the above

[CA CPT Dec. 2013]
58. The production function:

(a) Is the relationship between the
quantity of inputs used and the
resulting quantity of product.

(b) Tells us the maximum attainable
output from a given combination
of inputs.

(c) Expresses the tech'nologica]
relationship between inputs and
output of a product.

(d) All the above

59. shows the overall
output generated at a given level
of input:

(a) Cost function

(b) Production function

(c) ISO cost

(d) Marginal rate of technical subsii-
ution

[CA CPT Nov. 2006]

60. Which function shows relation-
ship between input and output?

(a) Consumption function
() Investment function
(¢) Producuon function

(d) Cost function
[CA CPT Dec. 2010]

61. A functional relationship bet-

ween inputs and output is called

(a) Cost function

. () Revenue function

(¢) Production function
(d) Consumption function

[Nov. 2020]

62. Which of the following state-
ments is true?

(a) After the inflection point of the
production function, a greater
use of the variable input induces
areductioninthe marginal prod-
uct.

(b) Before reaching the inevitable
point of decreasing marginal
returns, the quantity of output
obtained can increase at an
increasing rate.

(¢) The hrst stage corresponds to
the range in which the AP is

e
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(@) All the above,

63. Which one ofthe fo
assumprion underlyin
tion funcrion?

ih nl_unlizlng
5 ol vanabl)e

|lnw|||g isthe
Eany pradye.

(@) Relag lonship berween

and outpurs exists for
ol time.

inpuis
4 period

(&) Thereisa given “Sy
n the production

(¢) Whateve; nput combinations
one included in 4 Particular
function, the output resuliing
lrom their utilization is aq the
maximum level

(d) All of the above

64. The short run, as economists
use the phrase, is characterized by:

ate-ol- the ge”
lL’t‘hnuhlg_\-,

(@) At least one fixed factor of pro-
duction and firms neither leav-
INg nor entering the indusiry.

(b) Generally a period
shorter than one year

which is

(¢) Allfactors of production are fixed
and no variable inpurs.

(d) All inputs are variable and pro-
duction is done in less than one
vear.

65. To economists, the main differ
ence between the short run and the
long run is that:

(a) In the short run all inpuis are
fixed, while in the long run all
inputs are variable,

(b) In the short run the firm varies
all of its inputs to find the leasi-
cost combination of inputs,

(¢) In the short run, at least one of
the firm'’s input levels is fixed.

THEORY OF PROD( (NISTN

AND Chsg

() In he long un, the firm is mak-
g a sunstrained decision abaug
how 10 s extsting plant and
SuIpmeng elhiciently.

66, In llescrilling a glven praduc-

tion technology, ihe short run is hest
described as lasting;

(a)

(b) Up to five years (vom now

(€) As long as all Inputs are fixed
(d) As long as
nxed,

Up 10 six months Iram now,

ai least ane mput is

67. In the short run, the firm's prod-

uct curves show thart

(@) Total produc begins to decrease
when averape praduct begins 1o
‘JL‘U:‘.!"Ul)uluJIllli'Jllt"aIull‘l(‘ll‘ilﬁu
at a decreasing rate

() When marginal product is equal
to average product, average
product is decreasing but at its
highes

(€) When the marginal product curve

cuts the average product curve

from below, the average product

15 equal to marginal product

(d) In stage two, total product
Increases at a diminishing rate
and reaches maximum at the end
ol this stage

68. Long period production func-
tion is related to;

(a) Law of variable proportions
(b) Laws of returns to scale
(¢) Law ol diminishing returns

(d) None of the above
[CA'CPT June 2015]

69. Long-run does not have:

(a) Average Cost
(b) Total Cost

FHEGRY Op PRODUCTION AND cOsy

(¢) Fixed Cosi
(d) Variable Cosi
ICA CPT Dee, 2008]
70, A fixed inpur is defined as:

(a) Thatinput whose Quaniity can be
quickly changed in the short run,
I response o the desire of the
company to change its produc-
i,

(h) Thar nput whose quantity cannog
be quickly changed in the short
Fun, in response to the desire of
the company 1o change its pro-
duction,

(e} Thatinput whose quantities can
be easily changed in response 1o
the desire to increase or reduce
the level of production,

(d) That inputwhose demand can be
casily changed.in response 1o the
desire 1o increase or reduce the
level of praduction

71, In the long run, if a very small
factory were to expand its scale of
operations, it is likely that it would
initially experience

(@) An increase in pollution level.

(b) Diseconomies of scale

(¢) Economies of scale.

(d) Constant returns to scale.

Cobb-Douglas Production Func-
tion

72. Paul Douglas and Cobb stud-
icd the production function of the

— manuflacturing indus-
tries.

(@) American
(b) Japanese
(c) British
(d) Asian

39

73, In s original form, (he Cahb-

Douglas production funciion
applies;

() To individual firm
(h) To selected Firms

(£) To whole of manufaciuring in
the UUSA

(d) None of the above,
74, In Cobb-Douglas production
funciion, two inpuis are;

(a) Land and Lahouy

(h) Labour and Capital

(€) Capital and Entrepreneur

(d) Enuepreneur and land

[CA CPT Dec, 2013]

75, The famous Cobb-Douglas pro-
duction function is based onstudies

of "HaRg industries in the
United States of America,

(a) Manufacturing

(b) Construction
(¢) Consumer
(d) Aviation
[CA CPT June 2017}
76, If Cobb-Douglas function is

givenby Q = KL*C®, then there will he
when (a+h)

(a) ]ncrc.'islngretums, > 1

(b) Increasing returns (o scale, » |
(¢) Diminishing returns, < |
(d) Decreasing returns 1o scale ‘=1
[CA cpPT May 2018]
77. The conclusion drawn from
Cobb-Douglas production func-
tion is that labour contributed
about and capital about
of the increase in the
manufacturing production.
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923. The production Process de

ribed below exhibigs, 4

- Numberof | gur——

r
H_—V‘_‘t”:‘krrx Hipny

T

23

40

S0

(@) Constant

margin
labour,

al product of

(L) Diminishing

i marginal producy
of labour,
(c) Increasing return 1o scale,

(d) Increasing margin

al product of
labour.

94. Marginal product, mathemati-
cally, is the slope of the
(@) Total product curve.

(b) Average product curve.
(¢) Marginal product curve.,
(d) Implicit product curve.

95. Which of the following is Cor
rect? :

(@) MP, = TP, - TP,
(b) MP, = MP, - MP, |
(¢) MP,=TP, + TP,

(d) None of the above.

Use table below to answer ques-
tions 92-95,

f QOurput f ff_;_kju"!_lﬁ_<!
SO - |
1 10 10 .
2 [ — ’ 8 i
2 AT e

96. Wl:m-is the MP of 3rd unit of
output?

(b)

AND COsT

(@) o
() 8
() 10
(@) 11

[Nov. 2019]

97. What is the total product of pro-
ducing 2nd unis of outpur?

(a) 8
(&) 10
(¢) 18
(d) 24

[Nov. 2019]
98. What is the AP of 1st three

units
of outpur?
(a) 8
&) 10
(c) 18
(d) 72
[Nov. 2019]

929. If variable cost of 5 units of out-
put is 100 and fixed cost is 40. Find
average cost at 5 units of output.
(a) 8

) 100

(e¢) 108

(d) 540

[Nov. 2019]

100. Marginal, average and total
product of a firm in the short run
—  will not comprise with

(a) When marginal production is at
a maximum, average product is
equal to marginal product, and
total product is rising

When average product is maxi-
mum, average product is equal
to marginal product, and total
product is rising

THEORY OF PRODUCTION AND COosT

(€} When marginal product is nega-
tve, total product and average
product are falling

(d) When total product is ncreasing,
average product and marginal
product may be either rising or
talling

LCA CPT May 2019]
101. When average product rises
as a result of an increase in the

quantity of variable factor, marginal
product is:

(@) Equal to average product

(&) More than average product

(¢) Less than average product

(d) Becomes negative

[CA CPT Dec. 2016]

102. The marginal product curve
is above the average product curve
when the average product is:

(@) Increasing

(b) Decreasing

(¢) Constant

(d) None [CA CPT Feb. 2007]

103. Identify the correct statement:

(@) The average product is at its
maximum when marginal prod-
uct is equal to average product.

(b) The law of increasing returns
to scale relates to the effect of
changes in factor proportions.

(¢) Economies of scale arise only
because of indivisibilities of
factor proportions,

(d) Imternal economies of scale can
accrue when industry expands
beyond optimum.

104, Which of the following is
correct in relation to Marginal
Product?

3.13

(@) What s produced unigy when
all factors of production upe
employed atoptimum efficiency?

(h) The extra output obtained from
employing an additonal unit of
a lactor

() The left revenue
neur alter he
expenses

(d) None of the above

Lo the entrepre-
has incurred all

[Jan, 2021]

105. If the marginal product of
labour is below the average product
ol labour, it must be true that;

(@) The marginal product of labour
1S negative,

(b) The marginal product of labour
IS Z¢r0,

(¢) The average product of labour 18
falling.

(d) The average product of labour is
negatve,
106. The average product of labour

is maximized when marginal pro-
duct of labour:

(@) Equals the average product of
labour.

(&) Equals zero,
(e) Is maximized.
{d) None of the above,

107. The marginal, average, and to-
tal product curves encountered by
the firm producing in the short run
exhibit all of the following relation-
ships except:

(@) Whentotal productis rising, aver-
age and margial product may be
either rising or falling

(6) When marginal product is nega-
uve, total product and average
product are falling
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(¢) When average product is at a
maximum, marginal product
equals average product, and total
product is rising.

(d) When marginal product is at
a maximum, average product
equals marginal product, and
total product is rising.

108. If the marginal product of
labour is below the average pro-
duct of labour. It must be true that:

(a) Marginal product of labour is
negative
(b) Marginal productoflabouris zero
(¢) Average product of labour is fall-
ng
(d) Averageproductoflabourisnega-
tive
[CA CPT Aug. 2007]

Law of Diminishing Returns

109. In the production of wheat, all
of the following are variable factors
that are used by the farmer except:

(a) The seed and fertilizer used when
the crop is planted.

(b) The field that has been cleared
of trees and in which the crop is
planted.

(¢) The tractor used by the farmer in
planting and cultivating not only
wheat but also corn and barley.

(d) The number of hours that the
farmer spends in cultivating the
wheat fields.

110. Law of variable proportion is
valid when:

(a) Only one input is fixed and all
other inputs are kept variable

(b) All factors are kept constant

THEORY OF PRODUCTION AND COST

(c) All inputs are varied in the same
proportion ;

(d) None of these
[CA CPT Nov. 2007]
111. Diminishing marginal returns
implies:
(a) Decreasing average variable
Ccosts
(6) Decreasing marginal costs
(¢) Increasing marginal costs
(d) Decreasing average fixed costs
[Nov. 2019]

112. Diminishing marginal returns
for the first four units of a variable
input is exhibited by the total prod-
uct sequence:

(a) 50, 50, 50, 50

() 50,110, 180, 260
(c) 50, 100, 150, 200
(d) 50,90, 120, 140

[Nov. 2019]
113. In short run the Law of
variable proportions is also known
as
(a) Law of increasing returns
(b) Law of diminishing returns
(c) Law of decreasing returns
(d) Law of constant returns
[Jan. 2021]
114. Production activity in the
short period is analysed with the
help of:
(a) Law of variable proportion

(b) Laws of returns to scale
(¢) Both (a) & (b)

(d) None of the above
[CA CPT Dec. 201 2]
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115. The Law of Variable Propor-
tions is associated with:
(a) Short period
(b) Long period
(c) Both short and long periods
(d) Neither short nor long period
[CA CPT June 2016]

116. The “law of diminishing
returns” applies to :

(a) The short run, but not the long

run.

(b) The long run, but not the short
run.

(¢) Both the short run and the long
run.

(d) Neither the short run nor the
long run.

[Nov. 2019]

117. The law of variable proportions
is drawn under all of the assump-
tions mentioned below except the
assumption that:

(a) The technology is changing.

(b) There must be some inputs
whose quantity is kept fixed.

(¢) We consider only physical inputs
and not economically profita-
bility in monetary terms.

(d) The technology is given and
stable.

118. Law of increasing returns is
applicable because of

(a) Indivisibility of factors.

(b) Specialization

(c) Economies of scale.

(d) Both (a) & (b) above.

[CA CPT June 2010]

119. In the first stage of law of
variable proportions, total product
increases at the 3

il

(a) Decreasing rate
(b) Increasing rate
(¢) Constant rate
(d) Both (a) and (b).
[CA CPT Dec. 2010]
120. During 2nd stage of law of
Diminishing returns:
(a) MP and TP is maximum
(b) MP and AP are decreasing
(c) AP is negative
(d) TP is negative
[CA CPT June 2008]

121. A rational producer will pro-
duce in the stage in which marginal
product is positive and :

(a) MP> AP

(b) MP = AP

(c) MP < AP

(d) MP is zero

[CA CPT June 2016]

122. Diminishing marginal returns
implies:

(a) Decreasing average variable

costs

(b) Decreasing marginal costs

(c) Increasing marginal costs

(d) Decreasing average fixed costs

[CA CPT May 2007]

123. The phenomenon of diminish-
ing returns rests upon the
of the fixed factor:

(a) Divisibility
(b) Flexibility
(¢) Indivisibility
(d) None of these
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124, Law of diminishj
applicable in:

(@) Manufacturing industry
(&) Agnculture
(e} Neither (a) nor M

(@) Any economic acuvity
of time,

NE returns is

at a pointg

[CA CPT June 2009, 2010,
June 2012)

125. In the third of the three stages
of production:

(@) The marginal product curve has
a positive slope.

() The marginal product curve lies
- completely below the average
product curve. .

(c) Total product increases.

(d) Marginal product is positive
126. Diminishing marginal returns
implies

(a) Decreasing average variable

costs

(6) Decreasing marginal costs
(¢) Increasing marginal costs
(d) Decreasing fixed costs,

[CA CPT Dec. 2015, May 2019]

127. The “law of diminishing
returns” applies to

(a) The short run, bur not the long

run

(b) The long run, but not the short
run

(¢) Both the short run and the long
run

(d) Neither the short run nor the
long run

[CA CPT May 2018]
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123, Diminishing returns acenr:

@) When units of a variable inpui
are added 1o a fixed mput and
total product falls,

(5) When units of a variable inpug
are added to a fixed mput and
marginal product falls,

(€) When the size of the plant is
increased in the long run.

(d) When the quantity of the fixed
input is ncreased and returns (o
the variable input falls

Returnsita Scale i
129. The concept of Returns to
Scale is related with:

(@) Very short period
(&) Short penod
(¢) Long period
(d) None of above
[CA CPT June 2012, 2013]
130. The Law of returns to scale is.
(@) Short run
() Long run
(¢) Short and Long run
(d) Medium run
[Jan. 2021]

131. The scale of production can be
changed 1St
(a) Very short period
(b) Short period
(¢) Long period
(d) Both very short period and short
period
132, Increasing returns to scale can
be explained in terms of:
(a) External and internal economies
(6) External and internal dis-econo-
mies
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(0) External ceanomics and intermal
dis-ecanomijes

(@) All of these
ICA CPT Febh, 2007, May 201 B]

1335 Increasing re
occurs due 1o;

turns to scale
(@) Economies of scale
(b) Specialization
(©) Indivisibility of fac LO1's
(d) All of these
[CA CPT Dec. 2009]
134, Which of the lollowing stare-

ments describes increasing returns
to scale?

(@) Doubling of all inputs used leads
to doubling of the output

(b) Increasing the mputs by 50%
leads to a 259, Increase in out-
put.

(¢) Increasing inputs by 1/4 leads to
an ncerease in output of 1/3,

(d) None of the above

135. The stage of “Decreasing returns
toscale” will occur when P

(a) Decrease in output is less than
Increase in input

(b) Decreasein outputis greaterthan
mncerease in input

(¢) Increasein outputis greater than
Increase in input

(d) Increase in output 1s less than
Increase in input

{ i)‘(:ﬁ?'znzpsl
136. Returns to scale will said to be

in operation when quantity of ;
(@) All inputs are changed

(b) Allinputs are changed 1n already
established proportion

AND COST 317
@) Allinpuis are not changed
() Oneinputjs

tity of all oth
sSiime

hanged whije quarn-
EVINputs remain the

[CA CPT Feb, 2008)
137, Dlmlnishlng retug

(@) Whenunirs of

s oceur -

avariable input are
added 10 a fixed npur and 104
praduce falls

(h) When units ol a vamahje input
are added 1o a fixed mput and
marginal product faf]s

(€) When the size of the plant g
increased in (he long run

(d) When the quantity of the fixed
!hputis increased and returms 1o
the variable mput falls

[Nov. 2019|
138, Which of the following is the

reason of the working of law of
increasing rewurns?

(@) - Fulier utilisation of hixed factors
(h) Indivisibility of the factors
(¢) Greater specialization of labouy
(d) All of the above

[CA CPT June 2013]

139. Consider the following combi-
nations of inputs and outputs:

This production
satisfies

e
| Labour Capital Quitpur
—————£24% | Ouipr
'L 5 10 1
6 1

technology

5 2 4 2
14 3
8

10_4___ 4 |
9 | 18 5 l
{ES0 | 20 © J

(@) Tncreasing returns to scale

(b) Diminishing returns to scale

_“
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{c) Constant returns to scale 3 THEORY OF PRODUCTION AND COST zhif
3 44. Increase i i s r %
(d) Increasing returns initiall 1 t.h:n mal.lmpm leading to 148. When output increase in a 153. Large production of
lowing by d 54 y. fol- ‘ess proportional increase in smaller proportion with anin oods hi
Y decreasing returns to  ©utput is called in all i SR petleadio et
scale. i ; e - m esel??uls —_____ returns to tion in future.
Creasing returns to scale SCh AR (a) Cons Goods
. [CA CPT Feb. 2008] (6) Decreasing return (a) Increasing on.sumer
120. I i edaeld e g s to scale ; (&) Capital Goods
tion function is based on- il (@ Bon:tanl achuanstoscale (D; gecreasmg (c) Agricultural Goods f
, 4 B oth increasin . (c onslant . %
(a) increasing returns to scale returns to sca]eg ~2e Coasng (d) Circular QDb IN 20191
2 = Oov.
(&) Decreasing returns to scale [CA CPT Feb. 2008) 154. An ISO quant shows t
u s 145. W : e :
(c) C‘onstant returns to scale SR duleaetncl. :):‘:11::5 df:c::eases by Production Optimization (@) All the alternative combinations G
(d) None of the above 20%, this stage ix ca‘l:lel: tl;:;:f\- E:))l: 149. 1SO quants are equal to: of two inputs that can be pro-
[CA CPT Dec. 2014, May 2018] _ (@) Product Lines duced by using a given set of ¢
- > output fully and in the best pos-
141. If decreasing returns to scale (@) Increasing returns to scale. (b) Total utility lines sible way.
are preser.[t:,. thef: if all inputs are (6) Decreasing returns to scale. (¢) Cost lines (£) All the alternative combinations L
increased by 10% then: e R (d) Revenue lines of two products among which a
(@) Output will also decrease by LR 50 : s CA lov producer is indifferent because {
109%. Ses (d) None of the above. 0 [\t e Nho“ ?006' May 2018] they vield the same profit.
2 [CA CPT June 2010] . Among the following state- -} All the alt ive combi ions
B it unll increas 3 a 3 :: ok ¥ (c) 1the a rernauve combinatons
P L ase by 10%. 196 Gt Reatins 1o Seale sk m".'t‘s“?“d? isincorrectinrelation of two inputs that vield the same
(c) Output will increase by less also called as _ Produc- B total product.
than 10%. Hon Emcton (@) These are negatively sloped (d) Both (b) and (o).
(@) Output will increase by more (a) Linear (b) These are concave to origin 155. ISO quants are negatively
than 10%. () Curvilinear (¢) These are not intersecting sioped & 1o the origin
142. In Cobb-Douglas Production 3 - 4 } (d) These are convex to origin dueto _________ Marginal Rate
et O = KECY], there will be (¢) Linear Homogenous [V(‘)* o of Technical Substitution (MRTS).
OGS (a) Convex, Increasing

increasing returns to scale if : (d) Curvilinear Homogenous
3 : 151. 1SO quants are also known as:
e are also known as:  (5) Convex, Decreasing

(@ a+bx1 147. With a view to increase his pro- :
4 - duction, Hariharan a manufacturer (@) Production possibility curves (¢) Concave, Increasing
Spl ey of shoes, increases all the factors of (5) Indifference curves (d) Concave, Decreasing
{ ~ - — - - . - - ; - v ~ o
(¢) a+b=0 production 1{1::15 unit t;l.‘ ltPOcrl" 1;‘“ (¢) Production indifference curves 156. Which of the following state-
-7 - c =y - he inds 1 2 d x A 5 .
d a+b<l at thecel‘nctl_ of the year, tf 100: tl-:;q (d) None of the above ment is true in relation to an 1SO
- instead of an increase O o, his : i
- ~han e means that 0% uant Curve?
143. A change in scal hs o T e e amly [CA CPT June 2016] Quiz
£ s d production has inc y \ .
________ factors of production 80%. Which law of returns to scale 182 An Teoacantd (@) 1t represents those combination
x - 4 . Which l¢ < S 5 52. An Is i is : 15 ; ;
are increased or decreased in the PV°° xSadsl ol 2 s ———— A of two factors of production that
same production is operating in this case? an lsocost line at equilibrium point: will give the same level of ourput
- s < >
e o1 SIS scale ) C e A s
(@) Increasing returns to scale (23 Sonvexs (b) It represents those combinations

(@) Two

(&) Three () Decreasing returns (o scale (&) Concave of all the [.‘h-h‘“.ﬂ\m‘ will give the
N Tan e same level of output
(¢) No (c) (¢ langent
) INC

(@) All (d) None ot the above

[CA CPT June 2014]

Constant returns to scale
{¢) Tt slopes upward to the right

Perpendicular

lc-'\ CPT May 2007) (d) 1t can h'tli_;h either axis

LCA CPT June 2015]













3.26

THEORY OF PRODUCTION AND COST

(¢) Relevant
has a be
technolo
utilisation, efficiency, etc.

(d) Both (b) & (¢)
208. Cost functio
which is obtained from

(a) Production Funcrtion

(&) Market Supply of Inputs

(¢) Market Supply of outpurts
(d) Both (a) & (b).
209. The Cost function expresses

he relarionship berween
and

(a) Costs, input
(b) Costs, Output
(¢) Dependent Variable, Cost
(d) None of these
210. Cost Functions are derived

from cost data of the
firms.

(a) Actual
(b) Expected
(¢) Desired
(d) Standard.

211. Which of the following is a kind
of Cost function?

(a) Short-Run Cost Function
(4) Long-Run Cost Function
(¢) ShorvLong Run Cost Curve
(d) Both (a) and (&)

SHORT RUN COST

Total Cost

212. A company produces 10 units
of output and incurs ¥ 30 per unit
as variable cost and T 5 per unit of

ph_enomenon which
aring on cost like
gy, level of capacity

n is a function

fixed cost. What will be its total cost
of producing 10 units?

(@) ¥ 300
(b) T35
(¢) ¥ 305
(d) T 350
[CA CPT Dec. 2014]
213. What is the total cost of produc-

tion of 20 units, if fixed cost T 5,000
and variable cost is T 2/-?

(@) 5,400
(b) 5,040
(c) 4,960
(d) 5,020
[CA CPT Aug. 2007, June 2010]

214. Suppose output increases
in the short run. Total cost will:

(@) Increase due to an increase in
fixed costs only.

(&) Increase due to an increase in
variable costs only.

(c¢) Increase due to an increase in
both fixed and variable costs.

(d) Decreaseif the firmisin theregion
of diminishing returns.

215. Calculate total cost of 4 units :

[ Unirs ] Total cost (Y) |Marginal cost (%)
B R 80 1 40
| - ; 30

(a) 140

(b) 120

(c) 50

(d) 40

[CA CPT Dec. 2008]
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216. Calculate total cost of 4 units :

Quiput 0
< 200

10 | 20
2400 | % 800

Total cost
(a) T 40
(b) T 20
(c) T 200
d) T 400

[CA CPT June 2009]

Fixed Cost
syl Costs do not
change with changes in Output.

(a) Fixed

(b) Valuable

(¢) Semi Valuable

(d) Both (a) & (b)
218. If fixed cost is plotted on a
graph taking output on X-axis and

Cost on Y axis, the Fixed cost will be
represented by

(a) Straight line parallel 10 Y axis
(b) Straight line parallel to X axis
(¢) U Shaped Curve
(d) Hyper-parabola Curve.
219. Fixed costs are__
function of output.

(a) Not
(b) Always

(c) Treated as

a

(d) Directly related

220. Fixed costs may also be called
as :

(a) Inescapable
(b) Uncontrollable
(¢) Constant

(d) All of the above

3.27

221. Fixed cost curve normally:
(@) Starts [rom the origin
(b) 1s U shaped
(¢) Is vertical line
(d) Is horizontal line.
[CA CPT June 2016]

222. The vertical difference bet-
ween TVC and TC curves is equal to:

(a) MC
(b) AVC
(c) TEC
(d) None of the above
[CA CPT June 2016]
223. Average fixed cost for produc-
ing 8 units of output was 60, what

is the average Fixed cost at 6 units
of output

(a) 40
(b) o0
(c) 80
(d) 50
[Nov. 2019]

Variable Cost

224, Whart will be the TVC if we pro-
duce 2 units?

| . Uries (o R
ETmal costl 20 \ 37 \ 50 \
(a) 15
(b) 05
() 17
d) 30

[CA CPT June 2010]

225. The total cost is T 4200 and

fixed cost is ¥ 1200 then find the
variable cost

(@) 1,200
(b) 3,000

_--A.A:QQQ‘Q‘ﬁ‘)
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(¢) Srairstep vanable cost
(d) Jumping cost.

[CA CPT June 2017, May

Average Fixed Cost

243. Average fixed cost can b
obtained through: ik

(@) AFC = I':I;*Q

L Ee
(&) AFC = EC

. Z ine
(c) AFC = PC

STEC
(d) AFC = TU

[CA CPT Now. 2006, Jan. 2021]

244. Which one of the following is
correct?

(@) AFC = AVC + ATC
(&) ATC = AFC - AVC
(c) AVC = AFC + ATC
(d) AEC = ATC - AVC
[CA CPT June 2009, May 2018]

245. Which of the following cost
curves is never ‘U’ shaped?

(a) Average Total Cost Curve
(£) Marginal Cost Curve
(c) Total Cost Curve

(d) Total Fixed Cost Curve
[CA CPT Aug. 2007, June 2009,
Dec. 2015, May 2018, Nov. 2019]

246. AFC curve is :

(a) Convex & downward sloping
() Concave & downward sloping
(c) Convex & upward sloping a

(d) Concave & upward rising

2018] W

AND COST

247. Which of the foll

owing curves
never tough any

axis but is down-

(a) Marginal cost curve
(&) Total cost curve
(€) Average fixed cost curve

(@) Average variable COSt curve
[CA CPT Feb. 2008, June 2013]

248. The slope of Average Fixed
COst curve is?

(@) Falls from left to right
(&) Rises from left to right
(¢) Parallel to x-axis
(d) Parallel 10 y-axis
[CA CPT Now. 2018]

249. When the output of a firm

increase in the short run, its average
fixed cost.

(a) Increases

(b) Decreases

(¢) Remains constant

(d) First declines and then rises.

[CA CPT, Nov. 2006, Dec. 2015,
Dec. 2017]

250. Which statement among below
is correct in reference in Average
Fixed Cost.

(a) Never becomes zero
(b) Curve never touches x-axis
(c) Curve never touches v-axis
(d) All of the above
[CA CPT Dec. 2013]

251. Average fixed cost curve is

Iways:

(@) Declining when output increases

[CA CPT Feb. 2007] (b) U-Shaped, if there are increasing

returns to scale
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(¢) U-Shaped, if there are decreasing
returns to scale
(d) Intersected by marginal cost at
1S minimum point

[CA CPT Dec. 2014]

252. Which of the following curves
never touch any axis but is down-
ward.

(@) Marginal cost curve
(b) Total cost curve
(p) Average fixed cost curve
(d) Average variable cost curve
[CA CPT May 2018]
253. A firm’s average fixed cost is

T 20 at 6 units of output. What will
it be at 4 units of output?

(a) T 60

(&) T 30

) T40

d) T 20
254. A firm’s average fixed cost is

T 40 at 12 units. What will be the
average fixed cost at 8 units:

(@) T 60
\[)J .0
(¢) T90
(d) T80
[CA CPT Feb. 2007, Feb. 2008,
June 2008, June 2012, Dec. 2011,
Dec. 2016]
255, A firms AFC is ¥ 200 at 10 units

of output what will be it at 20 units
of outpur?

(a) 500
(k) 100
(¢) 150
(d) 200

[CA CPT June 2010]
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256. A hirm producing 7 units of
output has an average total cost of
rupees 150 and has to pay rupees
350 toits fixed factors of production
whether it produces or not. How
much of the average total cost is
made up of variable cost?

(@) 100 (b) 200
(c) S0 (d) 300
250

Average cost of producing 50
units of any commodity is T 250 and
fixed costis¥ 1,000. What will be the
average fixed cost of producing 100
units of the commodity?

(a) T 10
(b T 30
(¢) T 20
(d) 05

[CA CPT Dec. 2014, Dec. 2016]
258. Average Fixed Cost = T 20
Quantity Produced = 10 units

What will be the Average Fixed Cost
of 20th unit?

(a) X 10

b) T 20

(EIFNS

(d) None

o=
-
-
|
L
¢
¢
¢

|

{

[CA CPT Dec. 2008]
259. Find AFC of 3 units :

L'nir“-‘011|2\3‘]1

Towalcost | 15 | 25 | 35 | a5 |
Eois
(b) 10
(E)RLS
d) 25

[CA CPT Dec. 2009]

260. What will be the AFC of 2 units
according to the table given below:
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curve approaches the average total

cost curve as output rises is:

MC
ATC
AVC
Cost
o Quanuity

(a) Fixed costs are falling while toral
costs are rising at rising output.

(b). Total costs are rising and average
costs are also rising.

(¢) Marginal costs are above average
variable costs as output rises.

(d) Average fixed costs are falling as
output rises.

277.MC curve of a firm in a perfectly
competitive industry depicts?

(a) Demand curve

(b6) Supply curve

(¢) Average cost curve

(d) Total cost curve
[CA CPT Nov. 2018]

278. When shape of average cost
curve is upward, marginal cost :

(@) Must be decreasing
(b) Must be constant
(¢) Must be rising

(d) Any of these
[CA CPT May 2007]

279. With which of the following is
the concept of marginal cost closely
related?

(a) Variable Cost
() Fixed Cost

THEORY OF PRODUCTION AND COST

(¢) Opportunity Cost
(d) Economic Cost
280. What will be marginal cost of

67 units of production accounting
to the table given below:

Units of 0 |10 | 25|37 | 67
Producrion

Toral cost
(a) 10
(b) 20
() 30
(d) 50

160 | 200 | 300 | 500 | 1,400

[CA CPT Dec. 2011]

281. On the basis of the following
data what will be the marginal cost
of the 6th unit of output?

5 |
690!

Ouitpur | 0 bt |G
240|330(410|480

4]s
540%010
I

Total Cost
(in %)

(@) T 133
b) X 75
(c) X80
(d) ¥ 450
[CA CPT Dec. 2014, June 2015]
282. Consider the following table:

[Oupur| TFC | TVC MC
(Units) | (n%) | n) | (n3)
0 O e e [
1 s00 | 400 | 400
5 500 | 1600 | -

What will be marginal cost, when out-
put is 5 units?
(a) 300
(b) 400
(¢) 500
(d) 600
[CA CPT Dec. 2015]
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283. Marginal cost changes due to
changes in ;

(a) Total cost

(b) Average cost

(¢) Variable cost

(d) Quantity ol output

284. Which of the following state-
ments is correct?

(a) Fixed costs vary with change mn
output.

(&) It we add total vanable cost and
total fixed cost we get the average
cosl.

(¢) Marginal costis the result of total
cost divided by number of units
produced.

(d) Toual cost is obtained by adding
up the fixed costand total variable
“cost.
285. If total cost at 10 units is T 600
and ¥ 640 for 11th unit. The marginal
cost of 11th unit is:

(a) X 20

(b) T30

(¢) T 40

d) T 50

[CA CPT May 2007]

Use table below to answer questions
286-288

3[als] s |

7204810[915]1035'

|Output ! 0 1 1 I 2

Total | 360 495|615
|Cost (%) | |

| I )

286. The average fixed cost of 3 units
of output is .............

(a) T 180
(b) ¥ 225
120

T 134

(c)

a)
[July 2021]
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287. The marginal cost of the fifth
unit of output is

(a) T 105
L) T174
(C)RRE22S
(d) T 675

[July 2021]

288. Diminishing marginal returns
starts to occur between
Units

(@) 1and 2
(b) 2 and 3
(¢) 3and 4
d) 4and5

[July 2021]
289. AT 10 units Total Cost - T 200
20 units Total Cost - T 600
Marginal Cost = ?
(RS0
(b) 40
(¢) 30
(d) 400
[CA CPT Dec. 2008]

290. The total cost incurred for 10
units is T 400 and 20 units is < 800.
Find the marginal cost.

(@) T 400
(b) T 40
(¢) ¥ 200
(d) T 20

[CA CPT June 2009, June 2010,
June 2012, June 2014]

291. Use the table and answer for
the following questions:

lOulputh?llZi3ll4\5\641
Total [ 100 lsuazscﬂ 3&0‘3601}4201 490 '|
B T |

[L‘ua: () |




L input

combination r‘»,1J~,n;v[i(v—\,..; reach
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Economies and Diseconomies
of scale

BT i e

306. The positively sloped (rising)
part of_ the long run average cost
curve indicates working of the

(a) Diseconomies of scale
(b) Increasing returns to scale
(c) Consrtant returns to scale

(d) Economies of scale
[CA CPT Dec. 2014]

307. External economies accrue due
to -

(a) Increasing returns to scale
(/) Increasing returns to factor
(¢) Law of variable proportion

(d) Low cost
[CA CPT Nov. 2007, May 2018]

308. External Economies arise due
to:
(a) Growth of ancillary industries

(b) High cost of technologies

(c) Increase in the price of factors of
production

(d) None of the above
[CA CPT June 2013]

309. External economies can be
achieved through:

(a) Foreign trade only

(h) Superior managerial skill

(¢) Extension of transport and credit
facilities

(d) External assistance

310. When output increases more
than the increase in input, it occurs

due to:

3.38 THEORY OF PRODUCTION AND COST

(a) External and internal disecono-
mies
(6) External and internal economies

(¢) External diseconomies and inter-
nal economics

(d) External economies and internal
diseconomies

[Nov. 2020]

311. External economies can be
achieved through

(a) External assistance
(6) Development of unskilled labour
(¢) Superior managerial efficiency
(d) Technological external econo-
mies
[Nov. 2020]

312. Economies of scale exist be-
cause as a firm increases its size in
the long-run:

(a) Labour and management can
specialize in their activities
more.

(b) As a larger input buyer, the firm
can get finance at lower cost and

purchase inputs at a lower per ,

unit cost.

(¢) The firm can afford to employ
more sophisticated technology
in production

(d) All of these.

313. External Economies of Scale
are obrtained by:

(a) A firm

(b) A group of firm

(¢) Small Production

(d) Society

[CA CPT Dec. 2008]
314. External economics are en-
joyed:

(a) By large producers only

(b) As firm expands

THEORY OF PRODUCTION AND COST

(¢) Both (a) and (b) 3
(d) None of the above
[CA CPT June 2011]

315. How many kinds are of
Economies of scale?

(@) 5
(b) 3
(c) 2
(d) 1

[Jan. 2021]

Miscellaneous

316. Issue requiring decision mak-
ing in the context of business are:

(@) How much should be the opti-
mum outputat what price should
the firm sell?

(6) How will the product be placed
in the marker?

(¢) How to combat the risks and
uncertainties involved?

(d) All of the above
[CA CPT Nov. 2018]

317. Long-run price is also called by
the name of

(a) Markert price
(b) Normal price
(¢) Administered price
(d) Wholesale price.
[CA CPT June 2010]

318. Which of the following equa-
tion represents profit maximization
condition?

(a) MC = MR
(b) MC > MR
(c) MC < MR
(d) None

[CA CPT Nov. 2018]

3539

19. Large scale production is

associated with
(a) Technical Economies
(b) Un-managerial economies

(¢) Commercial Economies
(d) Financial Economies
[Nov. 2019]

320. Which of the following state-
ments is true?

(a) Accumulation of capital depends
solely on income of individuals.

(b) Savings can be influenced by
government policies.

(¢) External economies go with size
and internal economies with
location.

(d) The supply curve of labour is an
upward slopping curve.

321. Supply curve remaining un-
changed, an increase in demand
will lead to.

(a) A fall in price
(b) A rise in price

(¢) No change in price

(d) AN increase in supply

[CA CPT June 2010]

322. Marginal Cost changes due to
changes in

(a) Total cost

(b) Average cost

(¢) Variable cost

(d) Quantity of output

[Nov. 2019]

323. Price of a commodity is best
expressed as

(a) Exchange value

(b) Cost of goods sold

1
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(¢) The firm should increase price.
(d) The firm should increase output.

83.1In a Straight line demand Curve,
the price elasticity at the middle
point is equal to

(@) 0
) 1
(&)l
d) <1

84. Which one of the following is
Correct?

& MR = AR x &=
[
(b) MR2 = AR2 x £=1
e
(¢) MR = AR x —
el
(e-1)’

(d) MR = AR x

7
85. Marginal revenue will be positive
where price elasticity of demand is:

(a) Zero

(b) More than one

(¢) Less than one

(d) Equal to one

[July 2021]

86. The Marginal Revenue corre-
sponding to the middle point of the

demand curve (or AR Curve) will be:

(a) Zero
(b) One
(¢) Less than one
(d) More than one

87. Total revenue curve initially
increases at a diminishing rate due
to:

(@) Diminishing average revenuc
curve.

(£) Diminishing marginal revenue
curve,
(¢c) Diminishing average fixed
revenue curve.
() Diminishing cost curve
[Jan, 2021]

Behavioural Policies
88. According to Behavioural
Principles:
(@) A firm should not produce art all
if 11s total vanable costs are not
met.

(#) A fhirm will be making maximum
profits by expending outputtothe
level where marginal revenue is
equal to marginal cost.

(¢) Both (a) and (b)

(d) None of these

[CA CPT May 2019]
89. Time element was conceived by:

(@) Adam Smith

(b) Alfred Marshall

(c) Pigou

(d) Lionel Robinson

90. In very short period market:

(a) Supply changes but demand
remains same

(b) Supplychangesbutprice remains
same

(¢) Supply remains lixed

(d) Supplyanddemand bothchanges

[CA CPT May 2018]
91. In the long run:

(a) Only demand can change

(b) Only supply can change

(¢) Both demand and supply can
change

(d) Noneg ol thesce
[CA CPT Feb. 2008]

PRICE DETERMINATION IN DIFFERENT MARKETS 4.11

92. A Firm should _ if'the
total revenue from its product does
not its total valuable cost.

(@) Produce, equal

(b) Produce at all, equal or exceed
(¢) Not Produce, equal

(d) Not Produce, equal or exceed

93. As per Behavioural Principles,
It will be profitable for the firm to
expand output whenever Marginal

is than Mar-

ginal ke
(@) Cost, greater, Revenue
(b) Revenue, greater, Cost
(¢) Revenue, less, cost

(d) None ol the above

94. As per Behavioural Principle,
which one of following Statement
is Correct?

(a) If any unit of production adds
more to revenue than to Cost,
that cost, that unit will increase
Profits.

(b) If any unit of production adds
more 1o Cost, than to revenue, it
will decrease profits.

(¢) Profits will be maximum of the
point where additional revenue
fromaunitequals toits additional
cost

(d) All of the above

UNIT 2: DETERMINATION OF PRICES

Determination of Prices - A
General View

95, In the table below what will be
equilibrium market price?

-
|

| Price Demand Supply ply
I : L ¢
1 () (1:1:‘:11:?:np)cr (u::l:f:“scr {¢) Marketdemand and firms supply
[ 1.000 200 (d) None of the above
= [CA CPT May 2018]

2 900 500 97. Equilibri g betet

z . Equilibrium price may be deter-
B £90 ne mined through:

‘j 200, 1 700 | (a) Only demand

2 609 -] S0 (b) Only supply

6 500 | 900 E !
t— 1 (¢) Both demand & supply

7 400 | 1,000 |

5 — (d) None

8 3007 S L0 il [CA CPT May 2007]

(a) T2 98. When Marginal Revenue

(b) X3 is Equal to Marginal cost then

2
(c) T4 ¢
) 25 (@) Minimum loss

96. Equilibrium price for an indus-
try in perfect competition is fixed
through:

(a) Inmput and output

(b) Market demand and market sup-

(b) Maximum profit
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(€) Minimum profit
(@) Maximum loss
99. The equilibrium quantity

increases but the change in equilib-
rium price is uncertain, when:

(@) Both demand and supply dec-
rease. 4

(&) Demand increases
decreases.
(¢) Bothsupplyand demand Increase.

(d) Demand increases and supply
Increases.

and supply

[July 2021]
100. From the following table, what
will be equilibrium market price?

Price Demand Supply 1
(inT) (Tonnes (Tonnes
per an- per an-
num) num)
[1 | 500 | 200 =2
[2 | 450 | 250 il
3 | 400 | 300 ;
4 | 350 | 350 |
5 | 300 | 400 |
[ 6 | 250 [ 450 l
| 7 | 200 | s00 ]
|8 | 150 JEEshE ]
(@ T2
() T3
{i58) N
(d) T5

[CA CPT Nov. 2016]
101. The equilibrium is restored
automatically through:

(@) The fundamental working of the
market.

(H) Price movements eliminate short-
age or Surplus.

(¢) Both (a) and (&)

() None of these.

PRICE DETER.MINAT[ON IN DIFFERENT MA

RKETS

(1102. is the price at which
demand for a commodity is equal to
1ts supply:

(@) Normal Price
(&) Equilibrium Price
() Short run Price
(d) Secular Price
[CA CPT June 2008]

Changes in Demand & Supply
103. When increase in demand is
equaltoincrease in supply and equi-
librium price remains constant, then
what about equilibrium quantity?

(@) Increases
(6) Decreases
(¢) Remains Constant
(d) None of the above
[CA CPT May 2019]

104. With a given supply curve, a
decrease in demand causes:

(@) Anoveralldecreasein price butan

Increase in equilibrium quantity.

(b) An overall increase in price but a

decrease in equilibrium quantity.

(¢) Anoverall decrease in price and a

decrease in equilibrium quantity.

(d) No change in overall price but a
reduction inequilibrium quantity.

105. If supplydecreases and demand
remains constant, then equilibrium
price will be:

(@) Increases

(&) Decreases

(¢) No change

(d) Become Negauve

[CA CPT Nov. 2018]

PRICE DETERMINATION IN DIFFERENT MARKETS

106. Assume that in the market
for good Z there is a simultaneous
increase indemand and the quantity
supplied. The result will be:

(@) An increase in equilibrium price
and quantity.

() A decrease in cquilibrium price
and quantity.

(¢) An increase in equilibrium qua-
ntity and uncertain effect on
cquilibrium price.

(d) A decrease in equilibrium price
and increase inequilibrium quan-
tily.

107. An increase in supply with
demand remaining the same, brings
about.

(@) Anincrease in equilibrium quan-
tty and decrease in equilibrium
price.

() An increase in equilibrium price
anddecreasein equilibrium quan-
tty.

(¢) Decrease in both equilibrium
price and quantity.

(d) None of these.

[CA CPT June 2010]

108. An increase in supply with

unchanged demand leads to:

(a) Rise in price and fall in quantity
(b) Fall in both price and quantity
(¢) Rise in both price and quantity
(d) Fall in price and rise in quantity
|CA CPT Nov. 2007]

109. Suppose the technology for
producing personal computers
improves and, at the same time,
individuals discover new uses lor
personal computers so that there
is greater utilisation of personal
computers., Which of the following

willhappen to equilibrium price and
equilibrium quantity?
(a) Price will increase; quantity can-
(b) Price will decrease; quantity can-
(c) Quantity will increase; price can-

(d) Quantity will decrease; price can-

110. Which of the following may lead
to changes in demand and Supply?

111. Changes in Demand & Supply
may be due to:

4.13

not be determined.
not be determined.
not be determined.

not be determined.

(@) Income and population

(b) Tastes and Preferences

(¢) Technology & Prices of Factors
ol Production

(d) All of the above.

(@) Increase in Price

(b) Decrease in Price

(¢) Change in determinants of Dem-
and & other

(d) None of the above

112, If price is forced to stay below
cquilibrium price then consequently
it can be said that:

(a) Excess supply exists
(b) Excess demand exists
(¢) Either (a) or (b)
(@) Neither (a) nor (b)

[CA CPT Aug. 2007]
113. Lower prices in railways for se-
nior citizens is a typical example of:

(@) Concessional pricing

.-...'.‘!“1'111

(&) Marginal cost pricing
(¢) Differential pricing
(d) Subsidized pricing
[Dec. 2021]
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Uﬂl’l’ 3: PR!CE-GUTPUT DET ERMINAT!ON UNDER DIFFERENT

MARKETFORMS

Perfect Competition

128. Which of the following is not
an essential condition of pure
competition?

(@) Large number of buyers and
sellers

(6) Homogeneous product
(¢) Freedom of entry
(d) Absence of transport cost
[CA CPT Nov. 2006]

129. Under perfect competition,
price elasticity of demand of a firm is:

(a) Large
() Slight -
(c) Infinite
(d) Extreme
[Nov. 2019]

130. Under which of the following
forms of market structure does a
firm has no control over the price
of its product:

(a) Monopoly
(b) Oligopoly
(c) Monopolistic competition
(d) Perfect competition
[CA CPT Feb. 2007]

131. Which of the following is not
a coalition of perfect competition?

(a) A large number of firms
(b) Perfect mobility of factors

(c) Informative advertising toensure
that consumers have good infor-
mation

(d) Freedom of entry and exit into
and out of the market

[Jan. 2021]

132. Which of the following is not
a condition of perfect competition?

(a) A large number of firms.
(6) Perfect mobility of factors.

(c) Informativeadvertisingtoensure
that consumers have good infor-
mation.

(d) Freedom of entry and exit into
and out of the market.

133. Which is not the characteristic
of perfect competition?

(a) Large number of sellers
(6) Freedom of entry and exit

(c) No supernormal profits in the
long-run

{d) Inefficientallocationofresources
[Dec. 2021]
134. is a ideal Market.
(a) Monopoly
(b) Monopolistic
(¢) Perfect Competition
(d) Oligopoly
[CA CPT Dec. 2008]
135. A firm, to attain the equilibrium
position under perfect competition
has to satisfy which of the following
conditions?
(@) MR > MC
(b) MR = MC
(¢) MR curve should cut MC curve
from below

i
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(d) MC curve should cut MR curve
from below

[July 2021]

136. Which of these are characteris-
tics of Perfect Competition.

(a) Many Sellers & Buyers
(b) Homogeneous Product
(c) Free Entry and Exit
(d) All of the above
[CA CPT Dec. 2008]

137. Under which of the following
market condition both average and
marginal revenue are same?

(a) Perfect competition
(b) Monopoly
(c) Monopolistic competition
(d) Oligopoly
[June 2023]

138.Inthe market structure, demand
curve is also known as :

(a) Marginal cost curve
(b) Average revenue curve
(c) Total production curve
(d) Marginal utility curve
[Jan. 2021]

139. Price-taking firms, i.e., firms
that operate in a perfectly competi-
tive market, are said to be “small”
relative to the market. Which of
the following best describes this

smallness?

(a) The individual firm must have
fewer than 10 employees.

(b) Theindividual firm [aces a down-
ward-sloping demand curve.

{¢) The individual firm has assets of
less than T 20 lakhs.

(d) The individuzl firm is unzable to
affect market price through its
output decisions.

140. Suppose that the demand curve
for the XYZ Co. slopes downward
and to the right. We can conclude
Suppose that the demand curve for
the XYZ Co. slopes downward and
to the right. We can conclude:

(a) The firm operates in perfectly
competitive market.

() The firm can sell all thatit wasto
at the established market price.

(c) TheXYZ Co.isnotapricetakerin
the market because it must lower
price to sell additional units of
output.

(d) TheXYZ Co.will not be maximize
profitsbecause price and revenue
are subject to change.

[Nov. 2019]

141. Conditions for equilibrium of
a firm are:

(@) MR = MC
(b) MC should cut MR from below.

(c) MR = AR and MC should cut MR
from below.

(d) MR = MC and MC should have a
positive slope.

142. What is true about the perfect
competition market?

(a) AR = MR = PRICE
(b) AR=AC=P
(c) AR > AC
(d) None
[Nov. 2019]

143. The firm in a perfectly com-
petitive market is a price-taker. This
designation as a price-takeris based
on the assumption that:

I
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179. Average revenue curve is also

known as:

(a) Profit curve

(5) Demand curve
(¢) Supply curve
(d) Average cost curve

180. For a price-taking firm :

price.

() Marginalrevenueisequaltoprice.
(¢) Marginal revenue is greater than
price.

(d) The relationship between mair-
ginal revenue and price is
indeterminate.

181. Which of the following state-
ments is accurate regarding a per-
fectly competitive firm?

(@) Demand curveis downward slop-
ing
() The demand curve always lies
above the marginal revenue curve.

(¢) Averagerevenueneed not be equal
Lo price.
(d) Price is given and is determined
by the equilibrium in the entire
market.

182. What is the shape of perfectly
competitive Average Revenue Curve?

(a) Parallel to X axis
() Parallel to Y axis
(¢) Fall from left to right
(d) Rise from left to right
[CA CPT Nov. 2018]

183. Under which of the following
market structure AR of the firm will
be equal to MR?

[CA CPT June 2012]

(@) Marginal revenue is less than

(@) Monopoly
(6) Monopolistic Competition
(¢) Oligopoly
(d) Perfect Competition
[CA CPT Feb. 2007]

184. Under perfect competition a
firm is the:

(@) Price-maker and not price-taker
(b) Price-taker and not price-maker

(¢) Neither price-maker nor price-
taker

(d) None of the above

185. Which of the following is sup-
ply curve of competitive firm in
short run?

(a) Average variable cost curve
(b) Average total cost curve
(c) Marginal cost curve
(d) Average fixed cost curve
[June 2023]

186. Under which Market Situation
demand curve is linear and parallel
to X axis:

(a) Perfect Competition
(b) Monopoly
(c) Monopolistic Competition
(d) Oligopoly
[CA CPT Dec. 2008]
187. Price taker firms

(a) Do not advertise their product
because it misleads the customers.

(b) Advertise their products to boost
the level of demand.

(¢) Do not advertise but give gifts
along with thesold itemstoattract
cuslomers.

(d) Donotadvertisebecausetheycan
sells as much as they wish at the
prevailing price.

[CA CPT June 2010]

188. In which type of the following
market product is homogeneous in
nature?

(a) Pure oligopoly
(b) Pure monopoly
(c) Pure duopoly

(d) Pure competition
[June 2023]

189. Under which of the following
market structure AR of the firm will
be equal to MR?

(a) Monopoly
(b) Monopolistic Competition
(¢) Oligopoly
(d) Perfect Competition
[CA CPT Dec. 2010]
190. Perfectly competitive firm faces:
(a) Perfectly elastic demand curve
(b) Perfectly inelastic demand curve
(¢) Zero
(d) Negative
[CA CPT June 2011]

191. It will be profitable for a firm
to expand output till which of the
following conditions?

(@) Marginal revenue is grater than

Marginal Cost

(b) Marginal revenue is less than

Marginal Cost

(¢) Marginal Cost is greater than

Marginal Revenue
(d) Marginal Revenue is equal t
Marginal Cost

192. Which of the following is not
the characteristic of MR?

(@) When TR is minimum, the MR is
Zero

(b) MR can be negative
(c) MR slopes downward from left to
right
(d) MR Curve is below AR Curve
[CA CPT Nov. 2018]
1.93. MR Curve in perfect competi-
tion is:
(a) Parallel to X-axis
(b) Parallel to Y-axis
(¢) Fall from left to right
(d) Rise from left to nght
[CA CPT Nov. 2018]

194. In perfect Competition when
the firm is a price taker, which
curve among the following will be
a straight line?

(a) Marginal Cost

(b) Average Cost

(¢) Total Cost

(d) Marginal Revenue

[CA CPT Dec. 2011]

195. The firm in a perfectly com-

petitive market is a price taker. This

designation as a price taker is based

on the assumption that:

(@) The firm has some but not com-
plete control over its product
price.

(b) There are so many buyers and
sellers in the market thatany one
buyer or seller cannot affect the

market.
O (¢) Each firm produces a homoge-
neous product.

[June 2022]
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(¢) Fixed, Fixed inputs, maximize
() Valuable,
mize.

214. At the cquilibrium position of
A firm Under perfect Competition,

(a) The Marginal revenye is cqual to
the marginal Cost,

(k) The MC Curve cuts MR Curve
from below,

(c) Both (a) & (b)
(d) Either (a) or (b)

Variable inputs, mini-

218. A purely competitive firm's

supply schedule in the short run is

determined by:

(a) Its average revenue,

(b) Its marginal revenue

(¢) s marginal utility fer money

clrve,

(d) Its marginal cost curve.
216, Which of the following condi-
tions exhibits long run equilibrium

of the industry under perfect
competition?

(@) MR = LMC = AR = LAC =SA(
SMC

(b) MR = LMC = AR>LAC

(c) MR = LMC = AR<LLAC

(d) MR « LMC » AR-SAC

217. In a perfectly Competitive
Industry, the MC Curve of a firm
depicts:

() The industry dermand Curve

(h) The Firm's demand Curve

(¢) The industrys supply Curve

’ 1
(d) The Firm's supply Curve,

218. As regards short run supply
curve of the firm in a Competi-
tive market, for Prices

NT MARKETS

Average Vardable Cost, the firm will
Supply — . units because the

R O S et cven itg
variable Cost,

(a) Above, maximum, Unable
(1) Below, Zevo, Unable

(c) Above, Maximum, able
(d) Below, Zero, able

219 When the average revenues are
more than its average total Cost, the
Firm is said to have earned:

{a) Normal Profits

(b) Super Normal Profits
(¢) Exceptional Profits
(d) Expected Profits,

220. The total Cost of production is
740,000 (1,000 units). If the firm is

selling the product at 7 45 per unit,
it is earning

(@) Normal Profits @ Z 5 Per Unit
(b) Normal Profits @ 2 45 Per Unit

(¢) Super normal profits @ Z 5 Per
Unit

(d) Super Normal profits @ Z 45 Per
Unit

221. Price elasticity of demand by
a firm facing perfect competition
is:

(a) Large

(b) Very small
(¢) Small

(d) Infinite

[Dec. 2021

222. When AR =2 10 and AC=2 8

he firm makes
(a) Normal prolit

(b) Net profit

PRICE DETERMINATION IN DIFFRRENT MARKETS

(¢) Gross profit
{(d) Super normal profit
[CA CPT May 2007]

223. In a perfectly competitive mar-
ket, iIf MR is greater than MC, then
a firm should:

(a) Increase its production
(b) Decrease its production
() Decrease its sales
(d) Increase its sales
[CA CPT Dec. 2013]

224.Jn a perfectly competitive mar-
ket, if MR is greater than MC, then
a firm should:

(a) Increase its production
(b) Decrease its production
(¢) Decrease its sales
(d) Increasc its sales
[CA CPT May 2015]
225.If a perfectly competitive firms
carns super normal profits then
(a) AR > MR
(b) AR « MR
(c) AR = MR
(d) None of the above
[CA CPT May 2019]
226.When ___ i=
we know that the firms are earning
just normal profits,
(a) AC = AR

(b) MC = MR

(c) MC AC
(d) AR = MR
227. When

we know that the firms must be
producing at the minimum point of
the average cost curve and so there
will be productive efficiency.

4.27
(a) AC = AR
(h) MC = AC
(n) MC = MR
(d) AR = MR

228. A firm encounters its “shutdown
point” when:

(a) Average total cost equals price
at the profit-maximizing level of
output.

(b) Averagevariable cost equals price
at the profit-maximizing level of
output.

(c) Average fixed cost equals price
at the profit-maximizing level of
output,

(d) Marginal cost equals price at the
profit-maximizing level of cutput.

229. When

there will be a locative efficiency
meaning thereby that the cost of
the last unit is exactly equal to the
price consumers are willing to pay
for it and so that the right goods are
being sold to the right people at the
right price.

(a) MC = MR

(b) MC = AC

(c) MC = AR

(d) AR = MR

230. A firm will close down in the
short period, if its AR is less than -

(a) AC
(b) AVC

(c) MC

(d) None of the above
[CA CPT June 2014]
231. A competitive firm in the short

run incur losses. The firm continues
production, if:
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(c) Losses

(d) Constant Returns

[CA cpT Nov. 2018]
l:::s_. A long run Competitive equi-
Abrium of a perfectly competitive
industry occurs when:
(@) All Firms in the i
equilibrium.

(6) No Firm has an incentive either
to enter or exit the industry.

(¢) The price of the product is such
‘[hat the quantiry supplied by the
industry is equal to the quantity
demanded by Consumers. ;

(d) All above three conditions hold
true.

249. In the long run, under perfect
competition, there will be opti-
mum allocation of resources and

ndustry are in

(a) LAR = LMR

(b) LAR = LMR =P

(¢) LAR = LMR = P = LMC

(d) LAR=LMR =P = LMC = LAC

250. Price Discrimination cannot
persist under the following market
form: ~

(a) Perfect Competition
(b) Monopoly

(¢) Monopolistic

(d) Oligopoly

N IN DIFFERENT MARKETS

(6) the government has given the

firm patent right to produce the
commodity:.

(c) the costs of production ang
economies of scale makes

production by a single producer
more efficient,

(d) All of the above. S

252. Which of the following is not
a feature of the monopoly market?

(@) Large seller of the product
() No close - Substitutes
(¢) Marker power
(d) Single seller of the product
[July 2021]
253. Monopolist can determine :
(a) Price
(&) Output
(¢) Either price or output
(d) None
[CA CPT Feb. 2008]

254. A market structure where there
is only a single buyer and a single
seller is called:

(a) Duopoly
(b) Monopsony
(¢) Bilareral monopoly
(d) Oligopsony
[Dec. 2021]

255. Under which of the following
forms of market structure does a

firm has a very considerable control

Monopoly

251. Monopoly may arise in a product
market because

(a) asignificantlyimportiant resource
forthe production of the commod-
ity is owned by a single firm.

over the price of its product?

(a) Monopoly
(b) Monopolistic Competition
(¢) Oligopoly
(d) Perfect Competition
[CA CPT Dec. 2013]
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256. Under monopoly market con-
ditions MR is than
the AR,

(a) Less
(b) Greater
(¢) Equal
(d) Variable

[June 2022]

257. The distinction between a
single firm and an Industry vanishes
in which of the following market
conditions?

(@) Perfect Competition
(b) Imperfect Competition
(¢) Pure Competition
(d) Monopoly
[CA CPT June 2014]

258. Monopoly firm faces which
demand curve?

(a) Downward Sloping

(b) Horizontal

(¢) Rising

(d) All of these

[Nov. 2019]

259. Which of the following is the
distinguishing characteristic of
oligopolies?

(a) A standardized product

(b) The goal of profit maximizatuon
(¢) The interdependence among

nrms

(d) Downward-sloping demand
curves faced by firms.

260. In a monopoly market, a

producer has control only over:
(a) Price of the commodity

(b) Demand of the commodity

4.31
(c) Both (a) and (b)
(d) Utility of the product

[CA CPT June 2015}

261. Which is not characteristic of
monopoly?

(@) The firm is price-taker
(b) There is a single firm.

() The firm produces a unique
product.

(d) Theexistenceofsome advcnising.
[CA CPT Dec. 201 6]

262. Monopolyisundesirable due to:

(a) Ithaspriceshigherthan competi-
tive firms.

(b) Itproducesless output than com-
petitive firms.

(¢) It discriminates on prices.
(d) All of the above,
ICA CPT May 2018]

263. A Monopolist is a:

(a) Price-maker

(b) Price-taker

(¢) Price-adjuster

(d) None of the above

264. Under monopoly, the degree of
control over price is:

(a) None

(h) Some

(¢) Very consideratie

(d) None of the above

265. The demand curve of the firm
and industry will be same in which
form of market:

(a) Monopolistic competition
(b) Perfect completion
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o) wdeg!&ofmimdiscmm
on.

() None of the zbove.
302. Under

= enifire
(@) Se‘x’_ nd degree of Price discrami-
nation
(&) First degree of price discrimina.
tion :
{c) Third degree of price discrimina-
ton.

(d) None of the above.
303. Price discrimination is related

to:
(a) Time
() Size of the purchase
{c) Income
{d) Any of the above
304. Under monopoly price discrimi-
nation depends upon :
{a) .El&cdcit}' of demand for commeo-
(6) Elasticity of supply for cothmodirty
(c) Size of market
(d) All of the above
[CA CPT Aug. 2007]

305. Which one of the following
statement is Incorrect?

(a) Competitive firmsare price takers
and not price makers.
(6) Price discrimination is possible
in monopoly only.
(¢) Duopoly may lead to monopoly.
(d) Competitive firm always seeks to
discriminate prices.
[CA CPT Dec. 2010]

306. For a discriminating monopo-
list the condition for equilibrium is:

(@) MR > MC

ON IN DEFERENT Marx=Ts

&) MR1 = MR2

{c) MRz - MRYLH =N§C

{d) AN of the above
o [CA CPT June 2012)
phDeP::;: il—lsclmmanon can take

fa) Monopolisiic competition

(&) Olisopoly

() Perfect competition

(d) Monopoly

[CA CPT Dec. 2009]

308. Price Discriminationis possible
only when.

(@) Seller is alone

homogeneous

() Goods an

(4]

c) Mark

(d) None of the above.
[CA CPT June 2010]

309. For price discrimination to be
successful, the elasticity of demand
for the commodity in the two
markets should be:

(@) Same
(£) Different
(c) Constant
(d) Zero
[CA CPT June 2014]

310. Price discrimination will be
profitable only if the elasticity of
demand in different markets is:

(a) Uniform
() Different
(e) Less
(d) Zero
[CA CPT Dec. 2015]

PRICE DETERMINATION IN DIFFERENT MARKETS

311. A discriminating monopolist (o) Perfect compst=on
tor_e:_achequilibﬁum position, his &) Aonopoly
decision on total output depends £) Monopolissic competition

upon:
3 : Gty d) Olisopoly
(@} How much total cutput should be o g

Fune 2022}
316. The price discrimination umder
monopoly will be possible_ undet_
which of the following coaditions?
he =l no conwol overthe

a) Thessllerhas
s

iis product

b he marke: has the same condx-

[CA CPT May 2019]
312. Price discrimination is possible
only in:

2) Monopoly

(&) Perfect Competition

[CA CPT Dec. 2010}
317. Monopolist can fix him price of
goods whase elasticity is :

(c) Olizopoly
d) Monopolistic Competition
[CA CPT May 2019]

313. Which of the following is not
an objective of price discrimination? a

Less than 1

[CA CPT June 2011}
318. “Price Discrimination” can be
best exercised by the Seller in:

> SO < )} Olisopol
314. Price discrimination will not be @) MSOROLY

profitable, if the elasticity of demand (5]
is in different markets.

Aoneopoly
) » ot o FTIOT
(¢) Nonopolhistuc competnion

(@) Unitorm ) Perfect compeatition

[CA CPT Dec. 2011}

e 2 2 4 ]__L_l-l..l_.l— J

(¢) Ditierent

(¢) Less 319. A discriminating monopolist
Yy Zero will charge a higher price in the
(d) Ze E

[CA L‘i’T Dec. 2014] market in which the demand for its
s product is:

315. Product differentiation is the
condition of which of the following

market?

(@) Highlyv elasue

() Relatively elastic
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! (¢) Alarge numberofsma]

IN DIFFERENT MARKETS

I i 1 i = . .
| o firms and Isting firm is a situation called as
|
I (d) Onedomi
I ban‘iersn_nnam firm and lowentry  (a) Pure oligopoly
(6) Open oligopol
[Jan. 2021] S

374. The theo
called a theox'-y of -
(@) Individual behaviour

(b) Mass behaviour

(¢) Group behaviour

(d) Dynamic behaviour

375. Product differentiation is the

essential feature of

(a) Perfect competition

(5) Monopolistic competition
(¢) Oligopoly competition
(d) Duopoly competition

[June 2023]
376.If firms in the toothpaste indus-
try have the following market shares,
which market structure would best

describe the industry?

ry of oligopoly is also

;' Market Share

| (%of market) |

lL’l‘oorhpas(e J Loi7e

I R
| Denupaste

e

[ 143
| Shinebright 116
|

J
|
|

| I can’t believe its noll‘)—t
| toothpaste

|

4
LBn'ghwr than white f 8.8
[jaaty stuff | 7.4
| Others ! 29.8

(a) Perfect competition

(b) Monopolistic competition
(c) Oligopoly

(d) Monopoly

377. When new firm enter into the
market and compete with the ex-

(¢) Collusive oligopoly
(d) Competitive oligopoly

[June 2023]

378. Market which have two firms
are known as -

(a) Ohgopoly
(6) Duopoly
() Monopsony
(d) Oligopsony
[CA CPT Nov. 2007]
379. Firms in oligopoly are likely to:
(a) Try to differentiate its products
(&) Invest heavily in branding
(c) Act independently of other firms
(d) Tryto be a price maker
[Dec. 2021]

380. Smart phones marker is an
example of:

(a) Perfect competition
() Monopoly
(c) Monopolistic competition
(d) Oligopoly
[Nov. 2020]
381. Non-price competition are

observed in which type of following
market ?

(a) Monopoly
() Monopolistic competition
{(¢) Duopoly
(d) Oligopoly
[June 2022]

382. The market structure in which
the number of sellers is small and

PRICE DETERMINATION IN DIFFERENT MARKETS 4.45

thereisinterdependence in decision
making by the firms is known as :

(a) Perfect competition
(b) Oligopoly
(c) Monopoly
(d) Monopolistic competition
[CA CPT June 2008]

383. Who propounded the price
rigidity under kinked demand curve
model of oligopoly?

(@) Adam Smith
(b) Karl Marx
(¢) Keynes
(d) Paul A. chezy.
[July 2021]

384. A Kinked Demand Curve is also
known as:

(a) Samuelson’s
(b) Chamberlin's model
(¢) Stigler model
(d) Sweezy's model
385. OPEC is an example of :
(a) Monopolistic competition
(&) Monopoly
(c) Oligopoly
(d) Duopoly
[CA CPT Dec. 2008]

386. Aluminium industry is the
example of which type of oligopoly?

(a) Full oligopoly
(b) Open oligopoly
(c) Pure oligopoly
(d) Syndicated oligopoly
[Nov. 2020]

387. Pricerigidity concept is related
Lo:

(a) Duopoly

(b) Monopolv

(c¢) Oligopoly

(d) Monopolistic competition
[June 2022]

388. One characteristic not typical
of oligopolistic industry is:

(a) Horizontal demand curve

(b) Too much importance to non-
price competition

(¢) Price leadership

(d) A small number of firms in the
industry

389. The structure of the cold drink
industry in India is best described as:

(a) Perfectly competitive.

() Monopolistic.

(¢) Monopolistically competitive.
(d) Oligopolistic.

390. Kinked demand hypothesis

is designed to explain the under
oligopolistic market:

(a) Collusion between firms
(b) Price and output determination
(c) Rigidity of price
(d) Price leadership
[Nov. 2020]
391. Pure oligopoly occurs when:-
(a) The product is homogeneous
(b) The product is differentiated
(¢) Theindustryis dominated bvone
large firm
(d) The absence of price leadership
[June 2022]

392. “Let and live philosophy” con-
cern from which market?






. -
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isthatsituationin 415, Wha .
which a firm bases its market policy, poly» tis/are feature(s) of oligo-

in part on the expected behaviour of

a few close rivals.
(a) Oligopoly
{6) Monopolistic Competition
{c) Monopoly
(d) Perfect Competition
[CA CPT Dec. 2015]

412. When an oligopolist individu-
zlly chooses its level of production
to maximize its profits, it charges a
price that is:

{a) More than the price charged by
either monopolyora competitive
market.
han the price charged by
monopoly or a competitive

{c) More than the price charged by 2
monopoly and less than the price
charged by a competitive market.

(d) Less than the price

charged by a competitive market
413. Group behaviour from which
market belongs :
a) Perfect Competition

tic Competition

) . - I

[Nov. 2019]
314. Pure oligopoly is based on the
e s s prndrcts,

(a) Differentiated

[Jan. 2021

(a) Kinked Demand curve

(b) Cartel

(c) Downward
curve

(d) Both la) and

sloping demand

(b) are correct
[CA CPT May 2018]

416. Which of these is the best
example of oligopoly?

(a) OPEC
(L) SAARC
(c) WTO
(d) GATT
[CA CPT May 20135)

417. Which one of the following is
not the feature of Oligopoly?

(a) In terdependency
o) S‘:Jl,ng cost
c) Free Entry
(d) Oneoftheabove group behaviour

[CA CPT Now. 201%]

418. The theory of oligopoly is 2
theory of:

a2) Group Behaviour

o lass Behaviou

c) Individual Be} our
’4"/ i€ B‘:.’,L'..’/)'

419. Which one of following sta-

tement is incorrect as regards

oligopoly?

T
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(z) Oligopsony
(b) Duopoly
fc) Monopsony
(d) Carnel

(c) Theoligopolyisinterdependentin
decision-making of the new firms
which comprise the indusiry.

(d) No new firm is allowed to enter
in oligopoly market in any case.

420. Price leadership is the charac-
teristic of:

[July 2021]
425. According to Pigou, first
degree price discrimination charges
price to:
(a) Individual capacity

(a) Oligopoly
(6) Monopoly
(c) Perfect competition (5) Cuzntities sold
d) Discriminating Momnopoly

[CA CPT Nov. 2018]
421. The demand curve of an oli-
gopolist is :
( Dete

(c) Location

(d) None of the above

[CA CPT Nov. 2018]

426. In case of oligopoly, the price
leader sets the price in such 2 man-
ner that it allows same profits to the
followers also. This type of Price
- leadershipisby = |
i g (@) Low
[CA CPT June 2014]
422. An oligopolistic firm has to
behave strategically when it makes

o

AT SN aboutt it T d) Dominating Profit Firm
a) decision, price 427. In the context of oligopoly,
: the kinked demand hypothesis is
0) p outpu

designed to explain:

) pol materia : S
a) Price and output determination
ey bl b) Price rigidity
423. Entering into collusion or form- s
- - - L™ A40Eer
ing a cartel is generally considered
d) Collusion among rivals
Legal 425.The elasticity of demand on the
1 upper segment of a kinked demand
e g curve will be -
D z
a) Infinite
1) Mandator -
o) Equal to one
424. A group of firm that explicitly il 3 F
agree (collude) to coordinate their i St
activities is called a/an. d) Less than one

[June 2022]
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5.2 BUSINESS CYCLES
SINESS CYCLES
(a) Hawtrey &f 1930 BUSINES!
(b) Adam Smith (d) 1932 cUpward and downward move- A&t Contraction
¢) JM. Keynes ments (d) Depression
((L'H/Schum::ter 12. Recent Lan: 20211 (d) Extreme rise [Nov. 2020]
d cl Cyt.:le is :]hee,l‘:ample of the Business 16. Which statement is incorrect? 21.Theterm refers to the top
8. ‘n-a e cycles occur as a result of Us ousing bubble of the i tlSeversr {  orthehighest pointofbuslnesﬂcyCIC-
the mismatch between the aggregate economy bubble got bust in the . (a) Depression of Severe form ol o
demand function and aggregate ~°°F 5 . trough. ; (a) Top
supply function. Who said this? (a) 1930 (b) Depression causes fall in Interest (h) Expansion
(a) Pigou (b) 1998 rate ; Peak
(¢) Peak is highest point. 2% f'd AL
(c) 2000 A or e (d) Equilibrium
o ol the above. [Dec. 20211

(b) Schumpeter
(¢) Hawtrey
(& Keynes

, 2
e 2L 22. Select the odd out:

(a) Expansion

(g7 2007

13. Whi ity
chamongthe following is not 17. When aggregate economic acti-

vity is increasing in an economy, the

9. Which is not related to great = feature of Business Cycles?
depression of 1930? {97 Business Cycles are sporadic in economy is said to be in (b) Boom
(a) It stated in USA nature. to) Peak (c) Upswing
(b) John Maynard Keynes regarded (6) Business Cycles have serious con- (b) Contraction {7 Trough
lower aggregate expenditure as sequence on the well-being of the O E 23. represents ‘h;
the cause ROCIELY? Expansion steady growth licl; or }txhe growt
i AT (d) Trough of the economy when there are no
Excess Money Suppl (¢) Business Cycles are gxceedingl :
o e complex Phenomena. d [Dec. 2021] DPusiness cycles.
18. Duri h hase of trough of (@) hea
. During the phase g & Toend

(d) Both (a) and (&)
[CA CPT May 2019]

10. Which of the following is not
correct about the business cycles ?

(a) Business cycles have distinct
phase of expansion, peak, contrac-
tion and trough

(b) Business cycles generally origi-
nate in capitalist economies

(c) Business cycles are contagious
and are internal in character
(# All sectors of the economy are
adversely affected in equal pro-
portion
[June 2022]

11. The world economy suffered
the congest deepest and most
widespread depression of the 20th
century during

(a) 1934

(b) 1928

(d) Business Cycles are contagious.
[Dec. 2021]

14. The rhythmic fluctuations in
aggregate economic activity that an
economy experiences over a period
of time is called:

{«f Business cycle
(b) Recession
(¢} Contraction phase
(d) Recovery
[July 2021]

Phases of Business Cycle

15. The business Cycles or the peri-
odic booms and slumps in economic
activities reflect the

in economic activities.

(a) Upward movements

(6) Downward movements

business cycle, the growth rate

became
Lav)/NcgaU\'c
(b) Zero
(c¢) High

(c) Depression
(d) Expansion
24. In which phase of Business
Cycles levels of investment & em-
ployment falls

(a) Peak

(d) Low
[Nov. 2020]

19. When aggregate economic activ-
ity is expanding it is said to be in :
(a) Contraction
{(by Expansion
(¢) At wurning point

(d) A ]JLLl}’\
[Dec. 2021]

20.During __ ___thereisfallin

level of investment and employment.

(a) Boom

\) !{’.L‘J\.CI‘-

(b) Recession

(c) Expansion
(d¥ Contraction

25. Which one of the following is not
a phase of business cycle
«(a) Peak
(b) Trough
(c) Expansion

u?{ Reconstruction

[June 2023
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158. According to
modern business activities are based
on the anticipations of business
Community and one affected by
' waves of optimism or pessimism.

BUSINESS CYCLES

(b) Moderate

(¥ Low
(d) Very high

@/Pigou

(b) Schumpeter
(¢) Adam Smith
(d) Hawtrey

159. In a free market economy, where
maximization of profits is the aim of
business, a higher level of aggregate
demand will induce businessmen to

produce more. As a request, there

will be more __________.
(a) Output

(b) Income

(¢) Employment

(d)’ All of these

160. When companies lay off work-
ers, consumers lose their jobs and
stop buying anything but necessi-

tates. That causes a

(@Y Downward Spiral

(b) Cross Spiral

(¢) Upward Spiral

(d) Triangle Spiral
161.

of the aggregate demand.
(@7 Investment Spending
(h) Saving Flow

(¢) Expenditure behaviour
(d) None of these

62. Investments may rise when the
ate of interest is in the
tonomy.

a) High

is considered
to be the most volatile Component

163. Increase in investment; shift the

aggregate demand to the

leading to
@)V right, economic expansion
(b) right, depression

(¢) left, economic expansion

(d) left, depression
164. 'I_‘he most common method of
boosting aggregate demand is:

(a) Increased Government Spending

(b) Tax Cuts z

) Both (a) & (b)
(d) None of these
165. The macroeconomic policies
which cause business cycles may be :
(@) Monetary Policy
(b) Fiscal Policy
(c)"Both (a) & (b)
(d) None of these
166. In case of softening of interest

Tates, =

(a) There will be inflauonary effects
and increase in unemployment
rates.

(b) There will be deflationary effects
and increase in unemployment
rates.

(c)/ There will be inflationary effect
and decline in employment rates.

(d) There will be deflationary effects

and decline in employment rates.

167. Which of the following is anti-

inflationary measure which causes a

downward pressure on the aggregate

demand and the economy slows
down?
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(a) ReductioninGovernment Spend-
ing

(b) Increase in Taxes
(¢) Increase in Interest Rates
.(_CD/AII of these

Relevance of Business Cycles in
Business decision making

168. How many phases are their in
business cycle?

(&) Four

(b) Five

(¢) One

(d) Many

[CA CPT Nov. 2018]

169. Business Cycles effect
of an economy.

(a) Social Aspects
(b) Economic Aspects
(cy” All Aspects

(d) No Aspects

170. Which of the following indus-
tries are less sensitive to business
cycle?
(a) Consume goods industry
(b) Durable consumergoods industry
(¢) Travel and Tourism Industries
@)/ Food Grain processing Industries
——T]
I[June 20231]|
171. The period of prosperity opens
up new and superior opportunities
TOY S BREIL 1L _ thereby promotes
business.
(a) Investment and Unemployment

(b) Employment and Production

(¢) Production, Unemployment &
Savings

(d) Investment, Employment and

Production

i f
1725 At period OXNE oy
reduces business opportunities and

profits.

(a) Recession

(b) Depression

(¢» Either (@) or (®)
(d) None of these

173. Business Cycles have __
influence on Business decisions.

(a) Negligible
(b) Least

(¢) No

(g Tremendous

174. Which External Factor affect
the business cycle?

(@7 Population growth
(b) Variationingovernment spending

(¢) Money supply
(d) Macro economic policies
[CA CPT Nov. 2018]

175. Economy-wide trends can have
significant impact on

(@) Capital Goods Industries
(b)) FMCG Industries

(¢) Social acuvities

«r All types of business

176. Business cycleis contagious and
ol pu in character?

(a) Local

(b) Regional

(¢) National

{dr International

[CA CPT Nov. 2018]

S .ll.Gliii--,t.',’l]}
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177. Businesses whose fortynes
are closely linked to the rate of
€conomic growth are referred to as
business,

(a) FMcG
(&) Durable goods
(c) Fluctuating

(@Y Cyclical

178. The world economy suffered
the longest, deepest and most wide-
spread depreciation of the 20th
century during?

(a) 1934
(b) 1928
{er 1930
(d) 1932
[CA CPT Nov. 2018]

179. Which of the following business
are examples of “Cyclical business”?

(a) Fashion retailers, electrical goods
& house-builders.

(b) Restaurants, advertising and
overseas tour operators,

(¢) Construction and other infra-
structure firms.

(& All of the above,

180. The Stage/phase of the business
Cycle is important for:

(@) Making managerial decisions
regarding expansion or down-
sizing,

(b) Anew business to decide on entry
into the market.

(c) The success of a new product.

& All of the above.

181. Due to recession, employment
rate and output
respectively.

(a) Rises and rises
(M/Fall*; and falls
(c) Rises and falls

(d) Falls and rises

2

Answer

T : T <)
L Te 2 To]s [@]s [@]s [®]e [@ 7. [@]
e T@ o w10 @11 @] 12 [ @[3 @][14 [ @ |
[15. [ @ [16. | @ [ 17. | © [18. | @ [19.] &) | 20. | (@ [21.] 0 |
| 22. [ (@ | 23. | &) 1 24, | (@) |25 | (&) | 26. | &) | 27. | (c) [28. ] (@)
[29. [ @ [30. | @) [31. | @) [32.| @ | 33. | @ | 3= [© |35 [ @
[36. | (@ [37. | &) | 38. | @ | 39. | @ | 0. | ) | au. [© Taz. T |
43. | @) [44. | 5) [ 45. [ (@) [46. | ©) | 47. | @) 48. | @) | 49. [ (@
| 50. [ @ [51. ] (o) (52.77[”@) | 53. | ) | 54 | @ |55 | @ |56 | @ |
57. | ) [58. ] &) | 59. | @) ! ﬁ().‘l b) | 61. | (d) | 62. @ [63. ] @
' i b ‘ 1% E_ ”{V) | 68. | (b) | 69. | (d) | 70. | (c) |

64. | (a) | 65. | (d) | 66. | (a) | (@) [68. | (b) | 69. R
7. 1@ |72 [@ [73. [ @ [76. | @ [ 75.] @ [76. ] @) [ 77. F ,
78.] (a) L7 .| (c) | 80. | (a) | B1. | (d) | 82. | (a) | 83. | (a) | 84 | €) |
33. | (5) | 89, | (@) | 90. | () | 91. | (@) |
85. | (b) | 86. | ) [ 87. | ) | 88. [ v) [89. ] (w) | 90. | @) |
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92. | (b) | 93. | (a) | 94. | (a) | 95. () | 97. | () | 98. | (&)
99. | (a) |100.| (a) |101.| (a) | 102, (b) |104.| (d) |105.| (b)
106.| (a) |107.| (d) |108.| (d) |109. (@) |111.| (@) |112.| (b)
113.| (d) |114.| (d) |115.| (c) |116. (d) |118.| (¢) |119.| (d)
120.| (¢) |[121.| (a) |122.| (b) |123. (d) |125.| (b) |126.| (b)
127.| (a) |128.| (b) |[129.]| (¢) |130. (d) {132.] () |133.| (c)
134.| (d) |135.| (c) |136.| (d) |137. (@) |139.| (b) |140.| (b)
141.| (a) | 142.| (d) | 143.| (a) | 144. (c) |146.| (¢) |147.| (a)
148.| (b) |149.| (a) |150.| (c) |151. (a) |153.| (a) |154.| (a)
155.| (¢) |156.| (a) | 157.| (b) |158. (d) |160.| (a) |161.| (a)
162.| (c) |163.| (a) |164.| (c) | 165. (c) |167.| (d) | 168.| (a)
169.| (c) |170.| (d) |171.| (d) | 172. (d) |174.| (a) |175.| (d)
176.| (d) |177.| (d) | 178.| (c¢) |179. (d) | 181.| (b)

i
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(d) There is €asy entry
from the market place.

[CA CPT Dec. 2014]

amount of revenue (b)
equals the

196. It is the

from sales which exactly
amount of expense.,

(2) Shut down point
(&) Break-even Point
(¢) Profit point

(d) None

[Nov. 2019

197. A competitive firm should shut

own production if the price is :
(a) Below AVC
(6) Equal to AVC
(c) Below ATC
(d) Equal to ATC

198. Which of the following is
incorrect?

(@) Even monopolistic can earn
losses.

(£) Firms in perfect competitive
market is price taker.

(¢) It is always beneficial for a firm
in a perfectly competitive market
Lo discriminative prices.

(d) Kinked demand curve is related
to an oligopolistic market.

[CA CPT Dec. 2016]

199.In which of the following, prices
are determined by market forces of
demand and supply?

(a) Duopoly Competition
(b) Perfect Competition
(¢) Monopolistic Competition
(d) Natural market
[June 2023]

into or exist

ON IN DIFFERENT MARKETS

200. Which perfect completion fi
is described as: R

(@) Price taker and not price maker:

Price maker and not price taker

(€) Neither price m
taker.

(d) None of the above.

[CA CPT June 2017]
201. Which of the following State-

ment is false as regards Perfect
] Competition?

aker nor price

(@) Firm is said to be in equilibrium
when it maximizes its profit

(&) Theoutputw hich gives maximum
profit to the firm is called
equilibrium output.

(¢) Inthe equilibrium Stiate, the firm
has no incentive eitherto increase
or decrease its output

(d) Firms in a Competitive markert
are Price Makers.

202. Which is the first order condi-

tion for the profit of a firm to be
maximum?

(a) AC = MR
(&) MC = MR
(¢c) MR = AR
(d) AC = AR

203. For maximum profit, the con-
dition is:

(a) AR = AC

(6) MR = MC
(¢) MR = AR
(d) MC = AR

ICA CPT Nov. 2006]

204. Condition for producer equi-
librium is:

(G)R1RES

(b) MC

TVC

= MR
(G
(d) None of these

[CA CPT June 2008]

TAC

PRICE DETERMINATION IN DIFFERENT MARKETS

205. In market, the price and output
equilibrium is determined on the

basis of:

(@) Total revenue and total cost

(b) Toral cost and marginal cost

(¢) Marginal revenue and marginal

COSU

(d) Only marginal cost
[CA CPT June 2012]

206. In a perfectly competitive mar-
ket the demand curve of a firm is:
(a) Elastic

(b) Perfectly elastic

(¢) Inelastic

(d) Perfectlv inelastic
[CA CPT Dec. 2012]

207. The firm will attain equilibrium
at a point where MC curve cuts

from below.

(@) AR curve

(b) MR curve

(c) AC curve

(d) AVC curve
[CA CPT June 2015]

208. If in a short run perfect compe-
tition earn super normal profit then

which condition satisfy?
(a) ATC
(b) ATC-

(c) MR
(d) MR

> MC
MC

[Nov. 20191

4.25

209. Which is the first order condi-
tion for the firm to maximize the
profit.
(a) AC = MR
(b) AC = AR
(¢) MC = MR
(d) MR = AR
[CA CPT Dec. 2016]
210. Average revenue curve is also
known as:
(a) Profit Curve
() Demand Curve
(¢) Average Cost Curve
() Indilterence Curve
[CA CPT Dec. 2016]
211. Condition for equilibrium of
firm:
(a) MR = MC
(b) AR = AC
(¢) MC curve cuts MR curve from
below
(d) Both (a) and (¢)
[CA CPT May 2018]
212. Demand curve is horizontal in
the case of :
(@) Monopoly
(&) Perfect Competition
(¢) Impertect Competition
(d) Monopolistic Competition
[CA CPT May 2019]
213. In the short run, a firm oper
ates with a ___ amount of
capital and must choose the level of

s y ____soasto
profit.

(@) Fixed, Variable inputs, maximize

(b) Variable, fixed inputs, minimize

-_.n.l.lll\l'\"l"li



2.18

THEORY OF DEMA NI

(b) Pric..'ulus(icil_\'ul'dcnmnd 1S com-

putedas the percentage L‘lmngc n
quantity demanded divided by the
percentage change in price,

) Price clasticity of demand in the
long run would be different Irom
that of the short run,

L7 All of the above.

[Nov. 2019]
144, If the proportionate change in
priceis greater than the proportion-
ate change in quantity demanded of
a commodity, the price clasticity of
demand will be
(@) Zero

7) Inelastic

(c) Elastic

() Intinite

[June 2022]
145. A decrease in price will result
in an increase in total revenue if :
(@) The percentage change in quan-
tity demanded in less than the
percentage change in price.
U The percentage change in quan
try demanded 1s greater than the
percentage change in price

(¢) Demand is inelastic

AND SUPPLY

(b) The percentage change in quan-
uty demanded is preater than the
bercentage change in price,

(€) Demand s elastic.

(d) The consumer is operating along

a linear demand curve al a point

atwhich the price is very highand

the quantity demanded is very low,

147. For which of the following

product clasticity of demand is

highly elastic.

(a) Salt

(#) Life-saving medicines

(¢) water

wtf Jewellery

[July 2021}

148. The price of X commodity dec-
reases from? 1010 8, owing to which
its demand increases form 100 to 120

units. Caleulate the price elasticity
of demand

T () 1
) 1
(¢) 0.8
(d) 1.2
[June 2022]
149, If price decreases from ¥ 80 (o

THEORY OF DEMAND AND SUPPLY

(&) More substitutes for the product
are available
(e) Itis an expensive commodity
2 1t is considered a necessity
by its buyers
151.Ifthe price of a gel pen increases
from ¥ 40 to ¥ 50 and in response
to this the quantity demand de-
creases from 25 units to 20 units.
The coefficient of price clasticity
will be
(a) 1.25
) -1.25

(¢) 0.8

Gy -08

I152. The price elasticity of demand
for X is 1 and the original quantity
demand of X is 90 units, if the price
of X decreases from 7 300 to 2 180
per unit, caleulate the new quantity
demand of X
(a) 36 units
(&) 120 units

¥ 126 units

(@) 144 units

[Nov. 2020]

2.19
(a) Finite
(b) Limited
(&7 Infinite small
(d) None of the above
155.
Y A '
A
«
B
= c
-
D
E
o S
QUANTITY

Jg4 Elasucity at point A = e, at B = >
l,atC=1,at D =<]landE =0

() Elasticity at A=0, at B = < 15iat
C=l,atD=>1andE ==

(¢) ElasticityatA=0,atB>1,a1C
= I, at D =< 1fand'at E'=0

(d) None of these

[CA CPT May 2018]

156. The price elasticity of demand
at the midpoint of the straight line

demand curve under point method
is

: Vs 2, : 153. In the case of : 5 e
. ¥ 60 and elasticity of demand is 1.25 the case of a straight line
(d) The consumer is operating along

(a) O
i dcnmmlcur\'cmectinglhc LWo axes, :
¢ _——— - . e 3
a linear demand curve at a point N the price-clasticity of demand at the W) 1
at which the price is verv low and (@) Demand increase by 25% mid-point of the line would be: () >1
. - B J . el > S50/,

the quantity demanded is very (5) Demand decrease by 25% (@) 0 )

high. (¢) Remains constant Wi 1 [CA CPT May 20191
146. An increase in price will I‘L":\‘ull () None of the above (e) 1.5
in an increase in total revenue if :

157. Which of the following methods

calculates elasticity of demand by
using the formula:

[CA CPT May 2019] ) 2

) The percentage change in quantity
demanded isless than the percent-

age change 1n price.

150. The elasticity of demand for 154, The Concept of point elasticity
a product will not be higher when: is used for measuring price elastic- lower segment of demand curve
ity where the change

upper segment of demand curve

(a) It has several uses

m price is
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